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Time : 3 Hours R @ | Lo - ' Marks : 160

Instructions :

(i) Each question carries one mark. ‘
8 D)% ¥ Jr8oy Sk, .
(ii) Choose the correct or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4 in the circle
pertaining to the question number concerned in the OMR Answer Sheet, separately supplied to
you. |
B ’DNS (98 (D )5 adg2dS &St DOTHS VIS Savde WS8R D
SrDoT wos 1, 2, 3 B¢ 4 S ad)S OMR J5rad HES0s® CLAES
Qowodond Sowgio DEES ao/e ard dromod VW) SDTrA0D JodHB Tk,

BOTANY

1. Study the following lists
List-I List-11
(A) G, phase o (I) Fusion of microtubules to form spindle apparatus
(B) Prometaphase (I) Production of energy required for spindle formation
(C) Anaphase (III) Recombination of genetic material
(D) Pachytene (IV) Contraction of tubulin proteins

_ (V) Reappearance of plasmosome
S (800 aderods vFgoiodo Wahod

ee-1 eroc-11 ‘
(A) G, &% (D BrE 508w O 503 HOKSo D8 YB&0
(B) (g 3’33655‘«;; &% () 503 H0580 $0568 @é‘éd-éoaﬁas 38 sSNS
(©) Sod 8% (1) adog ‘o’aw’g RIdoTWoredSo
(D) 885 (V) &rgD0S (&S ew %08%S0 Boddo

(V) @ Foen BOA (Heg g Sothé
The correct match is ' S
20 DOTHS a0

A B (© O
() v av) a @y
R

- \"% I
733 (ﬂ% @ av) @y

Rough Work
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@ In a DNA fragment,%&lere are 8 turns, with 40% of the bases are cytosine. What would be
the total number of hydrogen bonds present in this DNA fragment ? -

¥ DNA poddod® 8 Lodorod, soos 40% BT FoRy. & DNA

pod g0’ Bogo IJ) S wogred Gotron?
(1) 96 ) 192 (3) 224 4) 60 :
»
3. The cell organelle bounded by single unit membrane which ﬁﬁrst reported by Rhodin :
is involved in the following reaction : €0

(1) conversion of serine to hydroxypyruvate 7 ?Zﬁ*’m’
(@ conversion of glycine to serine A '
(3) conversion of glycerate to PGA Y
formation of glycolate from phosphoglycolate

5535 B BNEY EADYS I Hdrmdgso o erofo & (808 D $EgS”
53";?"0&:30&? i

(1) =88 :wngbjo_adoTé‘eS'm sr8%0

(2) BRS =85 drddo

(3) 8%TE PGAm Srddo

4) & PS'OE B008 7s*E8 ScirESdo

cp™

4. Identify the correct pair of statements from the following e
(1) Pericycle of dicot root parenchymatous but sclerenchymatous in mature monocot root.
(I1) Pericycle cells of both dicot and monocot r00ts actively divide to produce lateral roots yan
during secondary growth. ‘
(111) All cells of endodermis are passage cells in dicot root. &
(IV) Xylem always produced in a centripetal manner in the roots of fruit bearing plants.

& |Bodad Do0D $BS TgWgo SPED K0 0BadM .

() &gse He DY H080 DOIEO SES o odndo s°m 300035 88
S8R0 ébqﬁgmzz‘eoﬁwéo

I agse D, Nesy Dero Bodod B H0SE oo gcSrRoom
DFudoo FosIEX Bg8o% $)g Vo0& g BEYD D& yoFm o | |

(1) agse Hero BEST wodiN3 eroR) To°E e

(IV) Hocsnd B ELD ordod) DY So|d &8 é)%SEBcS‘ D8 ydo$00.

The correct answer is

2B DOTHS =W -

(1) (n, Ay 4 (2) @m, av) @{ M, dD @ @, av)

Rough Work
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5. Study the following lists

List-1 . List-II -
(A) Tyloses ‘ () Coenocytic
(B) Periderm (II) Adaxial epidermis
(C) Motor cells (III) Complementary cells
(D) Laticifers | (IV) Heart wood

(V) Conjunctive tissue
& (808 wrdeorodd wgafado Fashod

rdar-1 ador-11
(A) BS*HSen | D o SoEs 8
(B) 208G 0 ’_ () esgy IS8 0
(C) 3rerd Eerew v (II) JoJHrs¥ Eeren
(D) 8% Eew » | (V) wodgshody

(V) $0Fh% Emeroo
The correcf match is |
ad HOTHS 8oy
@ ® © O
M Jan a @O ()
@ M v @O am
avy am @ q
4 avy o Jan

6. Collocytes which provide ‘mechanical strength to the plants are present in \U/&%W
(1) Dicotyledonous root ) Dicotyledonous stem
(3)  Monocotyledonous leaf (4) Monocotyledonous stem
K eh dro@8 werd) ad) TS DEY s &Oth"‘OJJ
() ags¢ Daro I8 (2) ag38¢ DHaro stodo
(3) S Dero Do | () 288¢ Dero sodo
Rough Work

AM 2013 B | | 3S
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7. Study the following-lists

List-1 List-11 -
(A) A.G Tansley , , (I) Classified plant communities
(B) Warming (I) “Structure and function of Nature™
(C) Odum (1I) Term—* Biosphere’
(D) Reiter (IV) Term—Ecology’

_ (V) Term—* Ecosystem’.
& (8308 wDE oM wegaiodo H %08 -

>Dee-1 raer-11
(A) &2, &°R7Q o 1) Boo¥y Loprew $6¥80ubo0
(B) a0y0h - () “(H%® dovywmo, DS’
(C) 460 ' (1) ‘EordSmo -HeSo
(D) 6&8 (AV) ‘wdden TR0 -HE0

(V) ‘uddem Hgo% -HA0

The correct match is
88 HBTNS FEoN)

A ® © @O

V) (O (D). 3dv)
) . v O @
@ av) an ) a
@ vy an ) @

8. Entry of pollen tube into the ovule through chalaza was first discovered by Treub in a
xerophyte. This plant is associated with a pair of characters given below

() Unisexual flowers 4 . '

() Sessile flowers S
(IIT) Centripetal arrangement of flowers Uﬂj

(IV) Bisexual flowers ¥

Lo orgor w00’ Do dT Yo BB Q) &8 @0 B S (@rd BugBeEd
o 5o anydo. S (§ob FES D of o ad & 0¥ N »o00H0oDID?

() EdoKE Paryeo

(1) $yodswrd Ry Yoo

(1) Sod 8 EHo08® Raryo wHo0¥

(V) dgdors Qo2 ‘ ‘

The correct pair is .

26 HOTD u | v

(1) (), (1) (2) (D, (Ié{ (3) ), av) (m/ (0, D

Rough Work
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9. Assume that blue flower of a plant’is dominant character over the white. When a blue
flowered plant is crossed with white flowered plant, the progeny showed 50% of plants with
blue flowers and 50% of plants with white flowers. The genotypes of blue and white parents

respectively are | | :
DO Soil P Jeu BISoH P YoD WIS VEH0 B FDoSod. DO DI Yoo
fo JwH o B Pryw Ao B8 & bo¥dmwo Bodore S5 Hod8S* 50%
g o D PFjolr 208" 50% oo Seod) DIJodr DA sIvyow. IO
;:6}:: SwY Varyw Ko =38 v o a2dog drdres SV q0° Godrow
Bb, bb (2) bb, bb - (3) BB, 1‘32 (4 BB, bb

L bbb

n b
10. Study the following lists = o 3 R N
. | ) Thi bk
List-1 List-II
(A) Turill : (I) Tissue culture
(B) Goethe - (II) Pollen grains
(C) Salisbury | (III) Nucleosome \
(D) Oudet .. (IV) Flower-a modified'stem

(V) Stomatal index
& (808 wrderod wggahdo Tahod

adec-1 - der-1l
(A) ©OS . I Eoero HgJ0
(B) A*B (I) doed TemoHew
(C) 30%20 (1) $rg8 TR
(D) RS (IV) DR Yo-&rdhyBodd srodo

(V) H 880 w0

The correct match is
20 VOTDS FFA0Y

A B © (@
M O av) (v
@ (V) @ am av)
G) AV) (D) an
w(in) @) oH am

Rough Work
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11. Study the following lists

o ~ List-1

(A) Apices of underground branches store
food material

(B) Underground branches grow obliquely

- upward from the axillary buds of nodes

of the stem below the soil

(C) Aerial branches grow obliquely downwards
and produce adventitious roots after touching
the soil | |

(D) Weak stemmed plants have a cluster of leaves
and roots at every node '

& |30 DT O BEgaido Bodod
der-1 -

(A) &) 79O §°§oe§"" TPote
‘ba‘g‘w Dog €s0¢Pon

(B) %088 &*do 408 srodo ENO DE
(pad Smifo $o0D FPKEY TR B
D& wreonr D8 DoToD.

(C) o5nid Tper b e 80 ID

Ll H0y8E%0 &8 eI EAAY

GBS ?:33‘_;033

(D) woird sodd) o (D8 S
58w thoR) dErod H0c50 TEYN -
8O0 &odrow

The correct match is

30 HOTHD oW
a ® © @O

M am ~ o 4

@ @ avy a o

E‘)(@V) , (V) dmy
@ V), e (V) (D

JbigDeal

List-11
(I) Mentha

(1) Hydrocotyl

(III) Agave

(IV) Stachys

(V) Jasminum

a_*i)e"—ll

(I) oz

() 2 &TBS
() oAS

(IV) 95

1\ az‘?o&éSo

Rough Work
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12. Identify the wrong statement

(1) Stipules in Lathyrus are persistent. “ ‘

[Zf Phyllotaxy in Trillium is alternate. w . | ~
(3) . Venation in Caulophylium is parallel. -~ ' :

(4) Cauline leaves are found in Cocos. -

o5 a"’gspgséo d280S0d

(1) odsdst SICEOALE &gs %o

(2) |8D0%Ses® DEIT g0 Jsc0s80

(3) sStHhoSes® &To Fgddo Jdroddo
(4) §'5DS* (H5P0d Dowod D@ GowroN

11

13. The, type of inflorescence in a plant showing polygamous condition and lateral styles is.

Compound corymb Q 2 Compound umbel
3) Com};ound he:l)c,l &~ M‘W 24; Comﬁoundraceme -
wdm Dompich 8, dpgloes $ONS 2 T & &oT DAY ATEHILO
(1) Docsng JdN2D 2) Hodsng Hodyo
3) Bocsw¥ 8458 dwgho @) Bocsny ©IBE DgHo

14. Identify the correct combination of ?aracters found in gfcurbim.

(1) Eree centfal placentation, synandry, dixgﬂpalmately reticulate venation
Mesogamy, fusion of epicarp and thalamus to form rind of the fruit, seed germination
epigeal — T

(3) Axile placentation, extrafloral nectaries, continuous co}legc;l}yrpatous hypodermal ring
in stem' / | _ '

(4) Bicarpellary gynoecium, compound sieve plate, unilocular ovary

%0 et EXDoT V8 TI oo HoFJoRS H8oBed

(1) tgamyols wodwrgo, Hockng HoH, wid0S ST worTd S130 Tgddo

(2) g SoTrdo, POOH ey Hosddo ‘Q)ivb}():éoés Hoddng D WSS
DEBL0, S gAIrNE DED woHe. '

(3) ofoh wodargho, HhHSE H¥Iod (fodew, $0508°) ©EHNERD) Prot's
"Emaeo eaZDDQ:Sl Seocdo. ‘

4) B3BosE wods o, DookeE Td Hoso, JEBo LowIdho

Rough Work

AM 2013 B ' 78
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WO T AEAT
60, or&T (1S T
> e 430r = 35

: ' <0

}5./There are 25 flowers in an inflorescence of Allium. Each .anther lobe o\f every stamen
contains 60 pollen grains. What is the total mumber of Pollen grains produced in its
inflorescence ? 4 _
v0hS YAy dgdos® 25 RarHeoITyow. T8 (D8 THFoS*D (Hd vodsty
396" 60 Hood BewHew 4o, RVAY ITgHos® Iwdo IV Hord Fewo

e GE\8 ol Ton?
?1) ) 4500”3“’ ® (2) 9000 gy)/l 8000 (4) 1500
16. Study the following lists :
List-1 , List-II -
(A) Aggregate fruitlets of berries appearing as a ()  Rubus
single fruit : ‘ ‘
(B) Achenes on the inner margins of receptacle (ID)  Artabotrys
(C) Etaerio of drupes | " () Ficus
(D) Etaerio of follicles (IV) Magnolia
(V) Annona
G (808 erderod vggahdo Fokod
D31 - FLoe-11
(A) DHydoderes 04083 28 d b
doorr EQyosdo g | '
(B) DY dFgdd)odo 5O wobhost () wgs’| 8%
0dSen dodron .
(C) Bo¥do Hore Howmo ‘ (I &3
(D) D% D88 pero Hozo . (IV) & Oosr
| V) o>

The correct match is
38 DOTHS fdod
Ay B) . © (O
V) ) @e (V)=
@ a @O v av
(3) dn  Jdv) dm vy -
4) Av) 1) {@MHe JdD

17. Triple fusion was discovered in this plant possessing naked bulb, fleshy leaf bases and
logulicidal capsule. : v
) Lilium (2) Trillium (3) Aloe 4) Allium :
nd) oo, D98 HY Do, §578 XordE 098m sod Hwo. Ko &
Bog) & (BR0Trm) EHofta) 8.
(1) ©Oc% 8 () 18958 3) wet - (4) udS

Rough Work

AM 2013 B | 8s
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18. Study the following lists

List-I

(A) Bicarpellary unilocular

(B) Bicarpellary bilocular

(C) .Multicarpellary multilocular
(D) Monocarpellary unilocular

& 808 wrderod c—sdgoﬁoéo To%0d

e 1

(A) dgpos¥ IREEALSTou S €0

(B) dgpode bgdocsndo
(C) wtohosd nrdeodndo

(D) DEbode DEDoBS0

The correct match is
ad JOTHS £éoR

(A)  (B)
(1) @ (V)
@ avy
@7 (V. ()
4) (V). ()

© . D)
vy, @
an vy
avy
@®H @

JbigDeal

List-1I

.d)  Hyoscyamus

dn Ulex

() Scillg
(IV) Citrus
V) Cwm .

‘N ot ‘
Ll eﬂ;&h

A A1 |
() Zrorbosr®S
1) c50B8)
) dg
AV) D&S
(V) s2yE%

/9) Study the following and identify the correct pair of characters for Ph}_)gqlis.

(I) Petiole adnate with the stem
(IIT) Seeds non-endospermic

(1) Thalamus cup-shapéd
(IV) Flowers hypogynous o

w2

& (800 T00 ©¢goHIo Bh HIODL TobS HOTHS of o 88S: MHOoFod

) $Edyod0 s0dod wIndo
Im esos'o’dﬁz)é gord Do

The correct answer is

VO WD dIdrgrdo

(1) @, @)

() Daryvdo AT) ss° o
(IV) Yaryeo wods& g Yo

//’)/ (D, (IV) &— (3) ), av) (4) (), ()

Rough Work

AM 2013 B
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20. Identlfy the correct palrs from the followmg

(I) Pusa moti of bajra — Mass selection <

(II) IR-8 of Rice - Clonal selection

(Il TMV-3 of Groundnut — Pureline selection

(IV) Aruna variety of Castor — Polyploidy breedmg
L§o& e3¢5t RIS =0l #80$od

0 g H>3rs — D70 H¥mo

() 55 IR-8 — §'%358 $8mo

(I TMV-3 S&%35% L — _%ags DoF|Ed J8mo

(IV) 0% vinso %o — es‘e’a'\)?géé (Peddo

The correct answer is
20 é&@b:& QA5 0 ; o
(1) ), avy ¥~ 62( (D, di) (3) @, av) (4) D, (1

) — g T
@ Which one of the following SCP organisms lack-a membrane bound nucleus ?
¢)) Spirulinak )(Z{g Paec:IomM 3) Ch rella (4) Chaetomium
€ (800 SCP £Hoos® B osrods észﬁoﬁmé ‘s‘oL 0 sod&?
(1) 380z @) 2 DS 3) 5B 4) D&*055,

22. Arrange the following in sequentlal order of their usage in recombinant DNA technology.

© (I) Calcium chloride (I) DNA ligase
(III) Ethylene diamine tetra acetic acid (IV) Restriction endonuclease
85°00TJ o0& DNA stloa%es" &o&m‘{aﬁ G (800 8D VOIS SEBE S0
©d8N08.
D 59 §° ‘65 (I) DNA BASE

(11D 95@53 O B wDS§ uo (IV) ORES 0&°IrETHE
The correct answer is
2 VOIS vSrordo
OO avy am” an
@ avy o an ¥ am
G O avy an am
(Iv)y @n an D

Rough Work
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23. Assertion (A) : Application of cytokinins causes the opening of stomata.
Reason (R) : Cytokinins induce the influx of Potassium ions into guard cells.
The correct answer -is A , -
(1) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(2) (A) is true but (R) is false
- (3) (A) is false but (R) is true _
Both (A) and (R) are true and (R) is the correct explanation of (A)
NS0 (A) @ DE IISoB TELo S0d HESo|grer BEIHE 0 Erow.
$°8wo (R) : E*BISen 5§ ¢ Sorost8 Srardoso S0 $0d8 LoS Iy
(2 T2 ow.
’O VOTD =W
(1) (A) 50603 (R) Bodor DOID 57 (A)H (R) D0THS JdSew eV
(2) (A) 20TB88 570 (R) OIS 570
(3) (A) BOTHSO 52 9 (R) HOTHHB
(4) (A) S°005» (R) Bodo PO SDID, (A)$ (R) D0THS P8
24. What is the amino acid sequence in the polypeptide segment translated from the mRNA
base sequence of AGU-UUU-UCC-GGG-UCG ? -
(1), Serine-Glycine-Serine-Phenyl alanine-Serine
) Serine-Phenyl alanine-Serine-Glycine-Serine
(3) Serine-Serine-Pheny! alanine-Glycine-Serine
(4) Phenyl alanine-Serine-Serine-Glycine-Serine
AGU-UUU-UCC-GGG-UCG SEENE o mRNA %5508 eodard HOSom 0633
TOVVE p0dZ0S’ Ko DS wIro K582
(1) E5-T%S-165-536 wo05-265
(2) 286%- %?_5 WOIR- ‘065 TO-26&
(3) ’:oéS 0S-P36 woIR-BRE-8S

4) VOIR- ’@85 NOR-BRS-88

A DA ‘ _Aah
. o660~ (CCC
uveh 88 :

fsf

fs

25. What is the ratio of ATP requirement for the fixation of 6 molecules of CO, in sugarcane
and 5 molecules of N, in bean ?
TH&HS* 6 wmdHe COZ, DR3* 5 wevHo N, é‘as’deavgo ©5VF50Bog ATPe

Daa@ o ?
(1) 5:16 () 3:16 (3) 5:8 (43:8
Rough”Woer 6 XS - 356 TP
L€ 0 \
ANGS

AM 2013 B 118
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26. Identify the correct. pair of statements

(D) Lutein is an oXygenated hydrocarbon : R
(Il) Inhibition of bacteroid respiration by oxygen is referred to as ‘Warburg effect’.
{ () Triplet code ‘UAA’ is called ‘Amber’, | ’

- (IV) Delay of senescence by cytokinins is known as ‘Richmond-Lang effect’./”
\'g-:g\; Q8330 TR aaé;ég Mlosod
T M eras oE)ES $ONI) TEieyS
() 2gorang 70538050 ©8y2d V& B0y Ef (H3750° woird
Iy ‘vaa’ Lég}()o‘ss@&)‘l ‘wonb woerdy
(IV) 2&°305 e Eg S50 ewé?ga’adda‘&)l 85%0&-r0F" (PerHo woer

The correct answer is

28 HOTY aare ¥
() dm, avy’ (2) (), (1 ,@{ @M, avy (4) M), (1
@ Ar fnosuccinasé 1S an example to
,("{)g Hydrolase - (2) . Ligase
} (3) Lyase : 4) Oxido-reductase
995‘$§Qﬁ§ A8 St e |
(1) & YE | (2) B8AL
(3) BTF : “4) v@aﬁ‘-bd:sfa?

28. Identifyathe role of lectins in the formation of root nodules in legumes.
(1) Formation of shepherd’s crook \
?/ﬁecognition of compatible Rhizobium by host
3) Formation of peribacteroid membrane
(4) Formation of infection thread
SireS0S® I w082 e DSy E kot S0 > #8030
(h EELANESE 536035115&)0
(2) ©8Fow VIS DH BEH%H 50 %30S %0

3) “’oaaargc"am% $es0 Ddgdﬁe.)o
A DoEHom s Dégéﬁéoo

rRough Work - , .
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Assertion (A) : Azolla is used as a biofertilizer in rice fields. e
Reason (R) : Azolla contains nitrogen fixing cyanobacteria in its root nodules. ~_
The correct answer is
(1) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(2) (A) is true but (R) is false

(3) ,(A) is false but (R) is true
Both (A) and (R) are true and (R) is the correct explanation of (A)

723380 (A) 1 eFgd 38 dorod® &5 dhPHm Tded.
s$mo (R) ; oty B WA DS JFad FHd 3% vosaSfur§odsodoen
G O™ o,

ad VOIS

(1) (A) %2005 (R) Bodr H8THID (A)é (R) 0TS IdEm S°&
(2) (A) 56THIE 5°2 (R) DOTHSO 5280

() (A) H0THI36 528 5 (R) HOTNHS

(@) (A) $:0050 (R) Bodr H63W5 s (A)% (R) 0T D88

30.

N
Identify the correct pair of statements from:the following S
(I) The attraction between two water molecules in Xylem vessels is called ‘adhesion’.

(II) The number of molecules of O, absorbed is more than the number of CO, molecules
released when one molecule of Triolein is completely oxidized in respxratlon

(II1) Bacillus mycoides is a nitrifying bacterium.
(IV) Continuous system of cell walls and intercellular spaces in plant tlssue is called ‘Apoplast’.

S (€0 &8 Jo0D HOTDS Frgwgo wEI o8ovod :

() odhryods® Tod 08 wtwpo ¢y e¥n o0 ‘@dondo’ vodrd.

(II) 7gdEHS® ¥ v (WO Yo eaéaédeeo TodIPIE ANTIHDHE O,
wmHo dowg dde vy CO, vaRo Jopg oW 2% D,

(HI) &rDod D5 ondd ¥ $5|BE8e aréaosaso

(IV) $)§ s'eaareoef’:) Enndd oo, §ea*oéo”a’>s*’aw§‘ nga Hogroso¥ ésé@z&
@@“52"3 wotrd.

The correct answer is

RO JDOTDHI warew

(1) dn, di (2) (), av) /3'((11), av) @ @, av)

Rough Work
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31. The number of stomata and epidermal cells in 1 mm? area of abaxial surface of the leaves
of A, B, C and D plants are given below.
AB,C $:005» D InE o dEre a;Edwos® uf 8D 0.0 Bwogoé‘ Ko
D ESogre goang 200050 erdrg BEy o Vowg (808 adgndia.

: Plant Number of Stomata Number of epidermal cells
5
é Doy Jgopro ﬁos,ag : zﬁa’ng ;SCS; oo 503:5
A , \ 40 730
B 60 510
C 70 ' 450

D 30 , 620
Identify the two plants having least stomatal index. '
vdeoy D EIod ;’iJ‘({’Jé fo Tody By ol MboNod.
(1) B, C 2) A, D (3) A, C 4 A, B

Study the following table showing the components of water potential of four cells of an
actively transpiring monocot plant. '

BoSHHm rAB 8o 26 YElond) af ¥ S5 De SnEy T Soro S
38y woww 22083,

Cell Osmotic potential Pressure potential
g0 BTPR6m 1¥)0 2E% ¥&0
| (MPa) (MPa)
A -0.9 0.5 -oY
B —0.8 | 06 -or
C 0.6 0.1 -—o7F
D -0.7 0.4 —0+3

Identify the four cells as root hair, general cortical cell, passage cell and pericyclic cells of

young root respectively. (Assume symplast flow)
& Tl Eorod T8 IS BVwE) Sare BFo, Fgde So)o w0, TuE
o H280%2 o)BzSLgéeaom S530%® 200308, (Do Sodom rdodod)

- (1) B,C,D, A : 2) B,D,C, A
B, D, A, C (4) A, D,B,C
33. What is the total number of amino acids when the capsid of TMV contains 2130 capsomers ?
TMY s%3y8¢° 2130 s*@%yobeo @0, oIS wire Bwdo Dopg D02

3

M%S (2) 162622 - (3) 948 (4) 387921 |
Rough Work r aS 5 lasD |
s ) OLO\% ﬁé %6\9 /?F k)3
o 1 %)
et o . é‘(\y P o©

X 15N W' C
\Lﬁzmsnj@ , ‘@&O é& 14 S .\%0
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34. Study the following lists

JbigDeal

List-I List-11
(A) Syphilis/\J /< S @O Acetobacter
(B) Pathogen of cattle an Agrobacteriym

- (C) Crown Gall of ApplesXB/ dm Corynebacteriym
(D) Diphtheria (Iv) Mycobacteriym
| (V) Treponemg

S (808 wrderey, ©&ga%hd0 Fbroa

Do ‘ Der-]]

(A) %05

(B) $HHost DO 2S¥o
C) ehSst R s

(D) &%805-

()} e?oéb"w§5

(1)) '&-s@"aﬁgboﬁa&

(I 86328005 S;

(V) @S‘wé&oﬁa&
V) BF%r

The correct answer is

ad :65@;:6 & a0

@)

A4 ® (©
M an o qy (I
V) avy @y am
O™ an @ )

@ a avy (v (1) '
35. The microelement which is an integral part of the electron carrier which transfers electrons

(1) Nitrate reductase
(3)' IAA oxidase 4) Dinitrogenase : .
Cyt-b-f R08%0 %08 PSIL DOS9T 00 Savege D DOF 9T Trigoest ©0od8S o
s03d g Saredo 49 OHPOEOT Godwon '

(D) 3@ES sas3s . @ =
(3) IAA—c—3§‘33?§ 4) BIS*=35

Rough Work
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36. Assertion (A) : Dictyostele is present in rhizome of Pteris vittata.

Reason (R) : Meristeles are scattered in the rhizome of Pteris vittata.

The correct answer is ‘

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

4) Both (A) and (R) are true and (R) is the correct explanation of (A)

N3ydo (A) @ BOS Jgrer §’°a’ooo&e5"; wrorstd (HB8m JoFo &onod.
s~§mo (R) : BOD Jgrer §En8° BOYSw ByrBSdomr dosrow.
20 DODS @Irww

(1) (A) %0050 (R) Bodsr HOTHID 570 (A)H (R) DSOS 2d8w 580

2) (A) H0TDH3S 5°J (R) HOTHIB 5% |

(3) (A) D058 578 (R) 200050 :

(4) (A) $2805» (R) Bodr HOTHID, (A) (R) DTS JHPm

What is the ratio of mitotic divisions that take place in the microspore of Cycas before and
after liberation from the microsporangium during the development of male gametophyte ?
DED PR DoTWrd Had whHyg VI s” gy DD Faidn $0D Jdd
Sose¥ Snol&r, © édaa‘é wgg od@)aoé‘ 20T DHo 3)2583:60 aaga Qo ?

M 1:2 2 2: | (3) 3:2 /exf1

38. Identify the wrong statement in relation to Funaria.

(1) Stomata are present in the epidermis of capsule.
) Spores are viable for only one year.
(3) Inner spore sac is one celled in thickness.
(4) Trabeculae connect the innermost layer of the capsule wall with the outer spore sac.
RIS OB Dowohod DOSW FgWIN? 528 0%08.
() HESoTren KoY wrdrg 6630«5‘ O o, ,
(2) i’oéf)es‘oéo woHooSHe 8 ¥ Dods o H8H Jr$ sokwod.
3) 60 vghusfo O ¥ Sr0806" &0&0d. |
4) Hd% é)ds@ S*HO P, wrdrg VYD S 503@63‘ Leri%;gé oo,

Rough Work
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39. Study the following lists

List-I ' ’ List-II -
(A) Anu‘cleate/\y : H (D) Spirogyra gametangium
(B) Uninucleatéj’ (I)  Rhizopus chlamydospore
(C) Multinucleate/\k' (IlI) ~ Pteris neck canal cell
(D) Binucleat@ o . (IV) Vitis matured sieve element

_ ' (V)  Akinite of Spirogyra
& (800 wrderod oggoiado Jokhod

Do~-1 Doe-11
(A) Bo(8% 8%so : () 26°Ror doTrndarsoso
(B) d8%058 aindo | ) 3£55 THa'ay6
© a:‘é:w's‘o@% oo m a5 So8SHergEno
(D) agSos¥ o ' (IV) 385 D% TodBrogo

(V) 238 fo= o308

The correct match is
28 HOTHS B0

A B) (© (D)
M O  avy vy
(2) av) D I an
G @O an a av
) V) @O o

40. In F, generation, 960 garden pea pods are produced during dihybrid cross due to self
pollination of heterozygous parents. How many pods would be green and inflated ?
VBB iz 23Hoos vl vos DoBYr0 argor B3H0ES Ho¥Smod® 960
&6 word Beres F, Sod8¢s* D8 ygrow, Ay Peorens eHJI T JoBIIM
GOo&ron '

(1) 240 | 2) 180 (3) 60 40
Rough Wo
3‘. 3 l
M;é« q
2 -
q‘% ES 178
B

AM 2013 B
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ZOOLOGY }\
In amoeboid movement; according to Goldacre and Lorsch cytoplasm solates due to -
(1) Folding of protein molecules (2)-Sliding of actin molecules
(3) Sliding of myosin molecules | gh)/lsjnfoldingof protein molecules
APB56 S00km orbyo oD Poho (H5°ES% eMerowd Aedos’ $odmrd PVRS
BSOS 2SHKHrd

(1) (88 vmHes Lo HESD ko 2) ©8S vmoHw rdd Sod
(3) DTBD] wHo S e 4 (@8 vwHeo HES QBVID P
42. Which one of the branches of cranial nerves is not related to vagus ?
Chorda tympani . (2) Cardiac depressor
(3) Recurrent laryngeal - (4) Pneumogastric
& 308 Ero THeo Tepost DO TEDH VowoHOWDID 57
(1) srgrSoard (2) 5°80%F &6
(3) (Dergdd DS DG 4 DRI=EY
43. Match the following with reference to Taenia solium
List-I : List-I1 ,
(A) Mehlis glands/(& (I)  Tegument formation
(B) Vitelline gland ; - (If) w:Osmoregulation and excretion
(C) Mesenchymal cell@ ‘ (IlT) Lubricate passage of capsules into uterus
(D) Flame cells«@ _ (IV) Secretion of embryophore
v (V) Capsule formation around zygote
A FOS0%H HowoBoDS & Bod &I =& &rdoySw
SEL-T . $§§-II
(A) DWO3 Kogew D TVorgDoSio 28 &S
(B) 288 K08 ) (S5 DIGe ($does Lod o DHYS »
(C) woBIr Seren () H@Een K07y FaHdNS DS erdotrdy oo Fokwe
(D) ergor gemen (IV) DoddeSo (dDoSb®H :
| (V) Sodsog deo SHgo E8)8 KO (dDoHe
The correct match is '
38 DOTPS FdowW
A B) (© (D
I vy @
@ an ) a avp
G) V) ) @@ avL
@) dv) Jm (D (I1)
Rough Work
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44. In the life cycle of Wuchererlae, 3" and 4" moults of microfilaria take place in
)}/)/Ie,ymph vessels of man ' (2) Stomach of mosquito
(3) Salivary glands of mosquito , (4) Thoracic muscles of mosquito
GE¥TOST £ S(E0S® B HITONBren SordS 5005w b &)5‘;15?00
P& E 2SHHHosron

(1) Sr3H FFRIDd Treren (2) &% dgrfasoos®
B) &% orormo |Hodocsods (4) &% adi€odore
45. Which one of the following became an endangered species as a result of extinction of
Raphus cucullatus ? .
/()p Sideroxylon grandiflorum - (2) Chrysanthemum
(3) Cinchona : - (4) Bacillus thuringiensis -
P HHOTHOD woddodod Sod 18od o8s* EID émoo:a‘ﬁ@:é et Yol
DOAB IS ,
(1) a&&*"ﬁeﬁS (rod &8s (2) 393700 H0S
(3) ‘oogsm = (4) 2P20S $00£0500

46. What is the resting membrane potential of nerve fibre 7 .
& Sos Ry Ao K50 872

(1) +75 mv %45 mv

(3) - 70 mV ‘T (4) -45mV

| 47. Identify the correct combinations
(A) Housefly—Labellum—Pseudotrachea
(B) Moth—Labellum—Dutton’s membrane
(C) Butterfly—1% Maxillae—Galea
(D) Tsetseﬂy—-Rostrum——Haustcllum
DOTHS DV FILn0I K8 0SoSw
(A) &i—TBg So-——é)oqrga“gfo T e
(B) $r&— ﬁBeSo—-—CSé:S I
(9] ;oe*é"é{)oog—aaodﬁ ao&)s’——ﬁedrw
(D) 2% Suf— S 3—us ROS
(1) (A) & (B) (A) & (C) (3) (B) & (C) 4 (B) & (D)

Rough Work
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49. Arrange the ganglia of Autonomouys nervous system of Cockroa_ch in correct s€quence from
anterior to posterior end )

(A) Frontal gahglion
(B) Proventricular ganglion
(C) Hypocerebral ganglion

. (D) Viéceral ganglion

(B) sy M08 a=8ose 8 %06

(C) &96‘53*«’_0"&22, T8 %os

(D) wodoror =& 208 .

/(1)/ A-C-D-B (2) A-D-C-B 3) B-C-D_p (4) B-D-A-C

S0. Identify the typical dental formula of a Metatherian ‘
PEPBOADT TWok) o Sod RIS 508 728 0 oS

/(/l’fi 5/4 ¢ 1/1 pm 3/3 m 4/4 (2 133 c¢in pm 4/4 m 373
() i4/3 ¢ 11 pm 3/3 m 4/4 | 4) i4/5 ci1/1 pm 3/3 m 4/4
Rough Work
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S1. Both hepatic and renal portal systems are found in

/(,lf)/ Fishes, Amphibians, Reptiles ) Amphibians, Reptiles, Mamma]s*
(3) Reptiles, Aves, Mamma‘ls?4 : 4) Cycloétomes, Fishes, Amphibiansvy\\ )
sPah, 8)8) VoS $g3pen Todr KNS s - |
() Tdew, sgohSoren, HEGyFw 2) aFohsoren, HOB T w, §oren
3) 20/, v, §Sorw 4) DS Fovw, Fdw, aychsom

52. Unloading of oxygen from haémogiobin is enhanced under the following conditions
(1) Increase in pH, decrease in COZ, decrease in temperature
(2) Increase in pH, increase in CO'2, decrease in temperature

: /(/37 Decrease in pH, increase in CO,, increase in temperature
< :
(4) Decrease in pH, decrease in CO,, increase in temperature

& ($00 DOYHDosed TREFOS Lod Sy JH) P whor IdSe vHsod
(1) pH dend DEibo, CO, Hodrmo $dvo, e S S0
- @ pH do8 D8k, €O, 508rm0 DEKGO, 6FHS ko

(3) pH-dend Ko, CO, Ho%rmwo 5@&6&:0, s S DEHLo

(4) pH dend gi&o, CO, do&remo S0, e S DSKRLo

33. Craspedote medusa is present in the following pair

(1) Aurelia and Rhizostoma (2) Pennatula and Aurelia

3) ‘Rhizostom‘a and Corallium Wﬁysalia and Halistemma

800 @ =8 EHos® st?Qch‘S 85708 TodS ko Godoe

(1) ©0dasr ook Bayrsr (2) DIvyergor Hdkn wdOST

(3) p_é‘@*&* 208 0sw S"o_‘é)oﬁoo @A) OB H08d5w SEOPErY
Rough Work
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Identify the Nematodes which have various shapes of amphids but without phasmids
(1) Wuchereria and Ascaris ' /(ﬁ Trichinella and Greeffiella

(3) Enterobius and Ancylostoma . (4) Ascaris and Ancylostoma |

DG wsoros® wopber Hod, FVIE B IDS e EPHod Yok

(1) &$TOOSr Hoda%0 88D |

(2) B98Jge Hdokw APDY"

3) QoS8 DOHT Hr00%H wo TS PR,

4) o708 00 YIS TR

@ The part of Adrenal cortex which secretes cortisol is

\

(1) Zona faciculata , (2) Zona glomerulosa
Zona reticularis ‘ . (4) Zona pellucida

wH)E) oy 00d’ 963'5:63 L@S’Jod) EAATa o

(1) &3 FPHgoer | Qe Brsadrsta

3) &5 T8%gord | : B> Dorgde

56.

In the transverse section of Pheretlma identify the correct sequence of body wall layers
from outer to inner side. </

(A) Circular muscles 65(

(B) Parietal peritoneum O

(C) Epidermis

(D) Cuticle

(E) Longitudinal muscles

POSIr ws SS® T Hdgd) DG P den 200 08 cS‘ng o DO TP K)d:m@a')rbl

280w,

(A) Sods odorew
(B) dg @oé'cri‘g‘éazéo
(C) wrdrgldyo

(D) ezl

(E) w0 ¥odoren

/?/C‘—)B—)E—-)A—»D " @) Ds>CoH>E—>A-B
)

D>C->A—->E-—>B @ D->B->A->E->C

Rough Work
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57. Statement (S) : In gastropods, due to torsion mantle cavity is placed anteriorly behind
and above the head.
Reason (R) : During larval stage, visceral mass, shell and mantle cavity are fy’sted
upto 180° counter clockwise with respect to the head and foot.

The correct answer is
Both (S) and (R) are true, and (R) is not a correct explanation to (S)
(2) (8) is correct but (R) is not correct
(3) (S) is not correct, but (R) is correct 7
(4) Both (S) and (R) are true, and (R) is a correct explanation to S)

Sgwg (S) Yo EHodhod éJ‘gS POSomr DFEHT 0 SuH IJoEmr
: DV rEg yrifoss 00,
s*§mo (R) P 2Po BoFE SYS* wodoroX ($5go, ¥, PosHErdo

o H8d5» Ja8 180° ST @é“@égom O 8& K erowm.

DOTNS HErGS B ~ » |

(D (S) S0cn (R) Bodor dmsw, 200 (6 (R) HOTHS D5Te 6 1
(2) (S) %0TWHB 50 (R) H0THHA 506 |
(3) (5) 50TW38 S 5D (R) H0TH36 | |
(@) (S) 20050 (R) Bodr daixn, $005 (S)E (R) H05HS Db

58. Arrange the following in the ascending order of their number per cubic millimeter, present
in the blood. '

(A) Basophils _, - (B) Lymphocytes
(C) Eosinophils (D) Neutrophils—"
(E) Monocytes '

(B8 D03 .00, SLos® g0 Soro JSopg wordon & (Bod oA 68’ Fe Evoc®

vl8N0s.

(A) ‘aﬁ@fzﬁb (B) Qo oén -

©) 22F9d, (D) %oy (5

E) B - | |

() A C-»>B-o>D-oE 2) C5A-5D-SEoSB

3) C>A5Do>BoE /(Aa/A-;c—>E—>B—>D
Rough Work
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59. In Eukaryotes, which of the following genes synthetize heterogenous nuclear RNA

(hn RNA) ?
(1) Holandric genes (

Split genes

(3) A-gene - (4) Z-genes

e BolsE ddos® Dads wrdow Fod¢ RNA% (hn RNA) bodhe Fosw

2dogHeo ID?

(1) $Fer0@F udogHow (2) D)6 mdogRoo | 3) .A-az:éogiu 4) Z-=logRen

60. Match the correct pairs in List-I and List-II with reference to Pheretima
$OES,YH HowoHodd HYE IS Bddn DFE 1D 2SEDIBodw -

List-1 o /\7 List-II-
(A) Pharyngeal Nephridia\/ ' (M 14" segment
(B) StomachAY P () 18" segment
(C) Anterior loopS\]/ | ) 9™ to 14™ segments
(D) Male genital apertures T\/ @v) 4% st and 6™ segments
o | i (V) 10" and 11'" segments
SGE-T SEE-II |
(A) KPS dysy e () 145 poddo
(B) 2grdasodw D 185 pobdo
(©) %rdg 3sgen () 9 %000 14 $8% podsren
(D) PSR =33 So|grew (IV) 4, 5 %8050 6% podeoren
V) 10 %8050 115 podorew
The correct match is '
ab HOTRS B
A ® © O
M avy @ ()  dm
@ @® a a
3) (vy av) am @
/MIV) am vy dn
Rough Work
24 S
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List-I List-II

61. Match the following

(A) Simple squamous epithelium \l<§’ - (I)  Ureters -
(B) Simple cuboidal epithelium @ (I Epididymis

(C) Non-ciliated simple columnar epithelium 7 (Ill) Lining of alveoli of lungs
(D) Transitional epithelium§ ‘ : (IV) Lining of Thyroid vesicles
(E) Pséudostratiﬁed non-ciliated columnar /\5 (V) Mucosa of stomach and intestine
epithelium |
8o PR @EE,E)d® |
‘égé;l ' _ HgE-11

(A) J8¥ Hop o DY D) S oeren

(B) %8¢ Bosd &HES | M) IHEBBS

(C) RO S8 HES Howrs s GHEE () &508&0s% oo
(D) H0S8S5 &HEY ©580T aHEY

(E) DogrghdsAOT 838 Hogrsd adsy (V) Borond E'wo wbdod adsd
(V) dgrioho fdckm DIHS' Fhaddo
The correct match is
R0 DOTDS FdoN
A B © @O (@
/() an avy o @O . (D
@ O (@ avy dan ()
@) (V) danp a avy @
@@ @ a © o

Rough Work
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What is the duration of one cardiac cycle in man when the heart beats for 75 times per

minute? :
(1) 0.3 seconds - (2) 0.4 seconds /(3)/ 0.8 seconds (4) 0.5 seconds
SHHD HoB Jdwar s 75 & éaoa‘f_o’ 0¥ Kﬁgg $00%0 Jod BXooS® FriHEod?

(1 0.3 ?oéoéa (2) 0.4 S¥od (3) 0.8 o¥od 4 0.5 "coéocgo

63.

Identify the correct sequence of events with reference to conjugation of vorticella

(A) Amphimixis .(B) Disappearance of macronucleus
- (C) Attachment of the conjugants (D) (Post conjugation fissions
(E) Prezygotic nuclear divisions (F) Postzygotic nuclear divisions

S8y 2600‘533(1&&3:6&7 %Ho20000D & (80d adgAI WIge HOTDDH HEDFHoHwD0

KB oSobm.

(A) &gich Q:ﬁéeao - (B) fgrv‘éo@ﬁé esyigo

(C) doddwifyseo évoagg | (D) Yooofmﬁ;}:é D{)z.)efgw

(E) %ocsng So8¥ Jrog dFaden (F) Hoding To|8¥ 688 dFadw

(1) C>B—>A—>E->D-F j C5>B>E—>A->F->D

3) F>A->D—>B—>C—o>E 4 F>D—>A->E->B-C
Rough Work

AM 2013 B _ 26 S



Download from www.JbigDeal.com | JbigDeal

£\

64. Match the following

List-I / List-IT |
(A) Conjugate vaccine}\t)/ (I) Human papilloma virus ~
(B) Toxoid vaccine';w > (I) Haemophilus influenzae

(C) Attenuated whole agent vaccine /V (III) Bubonic plague
(D) Inactivated whole agent vaccinel}* (V) Yellow fever
o (V) Diphtheria
808 I =S DHEoSoSw

SQE-T SGE-I1
(A) 502 AE 39838 (D) FgHS gt B85
(B) &rsmyonb o835 @) 3rHed AV Prodoer
- (©) DEBrgTBE S Dol 83y8 () 20g25°08 Hr>
(D) adu8TBE H5*S Daod 8y (V) 8y =edo
(V) ahoos

The correct answer is

ad JOTDIS ddrrerdo
A @B © (@

(N @ avy vy
am vy avy an

G O ada am (v

@ a am @ @)

e ’
Lapne

65. In birds, Foramen triosseum is present at the junction of

Clavicle, scapula, corocoid (2) Scapula, carina, furcula
- (3) Scapula, corocoid, synsacrum -~ (4) Clavicle, synsacrum, furcula
DHost © (% oo & (808 ddnEen ¥ODH o @owod
(1) =808, ©0%Hosdn, 0D S085%m (2) ®odHo¥Sn, 56v, Do o

(3) @odHoEdw, woddro0dSw, VB ESH (4) (g, @K)o@s‘éw,_ipdazrm

Rough Work
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66. Identify the two small apertures present in the auditory capsule of rabbit
(1) Foramen magnum and foramen ovale -
(2) Foramen ovale and fossa ovalis
(3) Fenestra ovalis and obturator foramen
Fenestra ovalis and fenestra rotunda

LoBwo FS0HOos® aod Tod 0S) Sogrod #oscd
(1) JoB3D580 Hobcsw Foekd oIS

(2) PorNS TS HO0Bn T wddD

(3) woddondo BH0BH wROTLE oS

(4) wod HouFo Hbasw Swomw Bondo

67. Match the following

List-I List-11
(A) _Founder,effect@ y (I) Long necked giraffes
(B) Bottleneck eﬁect(‘d) (I) Heterozygous for sickle cell anaemia
©) Genetic load@ (III) Pitcairn Island human population
(D) Directional selection ZE, (IV) Polydactylic dwarf individuals

(V) Sunflower population in california
(Bod I & SHBaadn

RS HSE-1I
(A) 258 & Beso 1) 20Hos™d 2635 Dd
(B) 86 3§ (perdo (D) Dhck oz HBS'D BESDS ©dasr
(058° (DeedHo) | |
(C©) mdog ado | (1) DESowb) HeHos* Hrdd wover
(D) B7cind $8m0 (IV) D&y worbwrgoss €A% Sgarss

V) 98@‘5;05?:’5‘53 TG0 B H > I © eI

The correct answer is

RO VODHD DArerdo

A @B © @O

Iy avy a «(v) d

@) a @ dn av

3y vy avy an

. y"/ amn avy ay @
Rough Work
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68. Of the following statements about ‘Antibodies’ and ° antlgens choose the correct set
(I) An antibody consnsts of four 1dent1cal light (L) chains, and two. identical heavy (H)
- chains.
(I) The stem ‘Y’ of antibody is called ‘F,,’ fragment._

(IIT) The stem of antibody and lower part of the arms constitute the ‘constant’ (C) region.
? (IV) The portion of the antigen to which an antibody binds is called epltope\/
98 TG’ SHocsn (98 23508’ Honododd & (8od argsogod‘ %0 T
235 D08 %080
(D 2% (58 BEoS® i :od‘gtoéré BOE>S (L) eodoen Ho0csw Bods
REGRITS o8 (H) Aendoen dodrow.
(I) 158 BHro YD s Q) F,, wodo woers.
(I 8 BEosS™ 56 Ko, v (80d Tmres Sod 36 (C) Froed) S8 %o,
- av) La@?ioﬁbg aoo&éa’aaaias (DB=IEY oy IDES esoerda
The correct match is

DOTDS s
)m—(II) and (IV) (2) and (1I) -~ (3) () and (IV)  (4)n (D) and (II)
69. Ideritify the tumour suppressor genes from the following :
(1) Oncogenes , /(2)}} p>3 genes
(3) Pseudogenes ’ (4) SRY genes
Bod aIS® ergdeb H99)8 adigHote HBoWsn
(1) @08 adogHes ) PP asghHen

(3) dogrgrdogHeo do L&t sSogHoo (4) SRY zSgHhen

70. Choose the wrong statement with reference to Mutation theory :
(1) Mutations are cumulated over generations
(2) There are no intermediate stages in the course of evolution -~

(3) Mutants are markedly different from parents —
'\ Mutations are subjected to natural selection
éégbédé omow&)é NVo20B0NS 5‘5935066 DO s a*sa:g:éo Ho8 oSodm
() &éabédww Soerd doros® HoNso wHerow
(2) HOeTHo(E00S® d PFod Brgo¥ SFeo sodDH
C (3 w80 IETen T8 $DSohe Jood ¥ (RO d By WrHErow
4 63018 (DE)BHS I8 fba"@o.»

Rough Work
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71. Which of the following hormones regulate solute reabsorption during urine formation in
© Rabbit? | |
/6 Antidiuretic hormone and Angiotensin I

\_,\ . (2) Angiotensin III and Angiotensin I

-~

3) Nor-epinephrin and Epinephrin

(4) Angiotensin II and Aldosterone

&oBens® Sar(go D8 BbS® & (800 D Y&S‘&éo TR ere Fhe0 V0500 (87007
(1) Dod éoﬁmﬁﬁg 5’3'555&53 0050 $oRTIrBAYS 1

(2) ©02TWrBINS I Hods» ©o2TIrBAYS I

3) 6 dHIBHS S0k IDFDS

(4) D02TWrBIYS 1 $00%0 6g*Hs's

72. In ECG a prolonged PR interval indicates
(1) Hyperkalaemia and hypokalaemia
(2) Myocardial ischemia and hyperkalaemia
(3) Cardiac arrhythmia and hypokalaemia
Coronary artery disease and rheumatic fever
ECG&® ég PR w03 sro Hg56 BAY [rDB00
(1) ZHETB00sr B8 BB
2 53633‘5150‘536 2R WS H00%H IHETTST
(3) Ty Qa&&oﬁr BYeYortt m@‘?@&bdﬁr
4) $6°50 ©dd &DE $d0%0 Bogdrd§ wgdo

73. Identify the orgamsms that belong to the benthos of lake ecosystem

(1) Gerris and Beetles /QZ{ Chironomid larvae and red annelids
(3) Daphnia and Notonecta ' (4) Ranatra and Copepods
b8y Erdde HgHPS” BoroH Bo&:é ZHose 620 0B
(1) BE°S $:0050 HES) ) %55”&)5 dogfsPew éoaoﬁoo
.DLCS wddE
(3) @05 D00 SEIg L () o 500050 STHa8Y
Rough Work
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74. Statement (S) : After implantation, the uterine myometrium undergoes changes to become
. ‘decidua’ in Rabbit. . :
> Reason (R) : The placenta of rabbit is described as deciduous type. -

The correct answer is : .
/(,I’(;oth (S) and (R) are true and (R) is not a correct explanation to (S)

(2) (S) is correct, but (R) is not correct

(3) (S) is not correct, but (R) is correct -

(4) Both (S) and (R) are true and (R) is a correct explanation to (S)

Fgwg (S) : HoBeost (BB DS w30880 KomyFck DTWrD|Bobo Srdoym

Wod HrDd (decidua)m ;36‘3650260.'

i (R) : HoBws® RorB0RD  Frdod  (deciduous) 508 BodSOM
| - Sgowd. -

VOIS vIrerSSw o |

(1) (S) %0050 (R) Bodr dadw, $8» (S)& (R) DOTDS VST 57

(2) () 20T, D (R) HOTHHS 57

() (S) BB/TDHIH 57, 522 (R) QOIS

4) (S) 20805 (R) Bodr D8THID, (8)% (R) DO DI

75, Statement (S) : Non-disjunction is the failure of paired chromosomes to segregate during
| the metaphase of meiotic divisions of rgametogen'esis.
Reason (R) : Non-disjunction results in production of abnormal gametes.
The correct answer is '
Both (S) and (R) are true and (R) is not a correct explanation to (S)
> < (2) (8) is correct but (R) is not correct '
(3) (8) is not correct but (R) is correct
(4) Both (S) and (R) are true and (R) is a correct explanation to (S) ’
T gwg (S) P D0TIrd Dt er 188 DBo0H0S® §ohESm DD oKy, B¢ B3t
5Bt dmen wd 3 BoSEFS@) @dTWrado vokrds.
s*wo (R) P dTraso S orIrdg DoWrd Hareo D8 ydosron.
DOTNS Jdrgrd S '
(I)- (S) %°005» (R) Bodsr VOTDXD, H8dsw (S)%H (R) VOIS S Y 57
(2) (S) B8TH5H, 521 (R) DOTDIS 5%
(3) (8) %0THI0 5%, == (R) POTDHS
(4) (S) 0050 (R) Bodor Dedw, Hodadn % (R)'“gobgi::é EToL)

Rough Work
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76. Wax glands in honey bees are present on these segments

(1) 1, 2, 3 and 4 abdominal segments of queens
(2) 2, 3 and 4 abdominal segments of queens

2, 3, 4 and 5 abdominal segments of workers C.
(4) 1,2 and 3 abdominal segments of workers '

8384 DY Ko & poderoD dokron

(1) oo &f Ty 1, 2, 3 J08c%w 45 638 poderen
(2) ored & T, 2, 3, H0AW 45 688 poderw
(3) &0 & W) 2, 3, 4 2B 535 &Y sgo&c‘oo
(4) O &l T/E) 1, 2 Hddw 35 688 poderw

77. ldentify the correct pair

(A) Zinc — Essential for tissue repair

(B) Cobalt — Essential for formation of leucocytes
(C) Iodine — Synthesis of thyroid hormones -~
(D) Manganese X 1 Synthesis ‘of insulin

HOTHD 2dB> #980Wr50 ,

(A) 208 - Fomrero DI &% edgdddo
(B) §'uwrd —_ org§ ot DS YHOH BSeHDL0
(C) @& — Gorond H86°% oThw

(D) $70XID — 2)O8 SoFawm

(Ix"(B) and (C) (2 (A)and D) @) (A)and (C)  (4) (A)and (B)

78. Identify the correct sequencé of stages in the Ross cycle of plasmodium

(A) Sporocyst (B) Ookinete - (C) Sporozoites (D) Zygote

(E) Oocyst '

F¥ 880 BwEy 05 Sudrdd HowododS ROTHS BEDEBod0S0
%58 0 S0 '

(A) DY (B) w838 (C) &Fy8*arondes (D) Hoosny Heo
(E) & o
() DoB>A->E->C 2Q) C5A->E->B->D
B DoE->B->A->C | DoB->E>A-C
Rough Work
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and a colour blind man ?

(1) - All the sons are with normal vision and the dau

igDeal.com

A\

79. What is the phenotype of the offspring born to a woman with normal vision (homozygous)

- All the sons and daughters are with normal vision.
(3) All the sons and daughters are colour blind.
(4) All the sons are colour blind and the daughters are with normal vision.

Tordn 8y (DS chofyzo) KDAD 98 H0ckw Hgrods EOAS ¥ HHIE LOH

Do88S°® Syigsrd 3 E8dwo D Do Hotwosd?

(D) SHDHOoEEr Fersn S)hsomd: 5000 L) Sgrothes

(2) BPdodHen 5005w @éz%@ oSS s dyn Soard
(3) 5 ddHen J00050 éréo%@ VO&Er Hgroden

4) FHHeoolkdr Sgrogoen Hodddw w&éoe) Trdn SR foad

JbigDeal

ghters are colour blind.

80.. Match the following
ListI  _~
(A) Georges Cuvi,eﬁ\y
(B) Claude Bernard ig
(C) Louis de Buffon <J,
(D) Richard Owen
) V

808 &I =SB odw
SGE-1

(A) =05 ©Do%E

(B) 56 Bo&

(C) orowd & 2037

(D) 63§ 43S

Identify the correct match
DOTDD w&d K080 wSodw
A B © (O -
I @ dny a (V)
an @ v a
3 a O Jdn (V)
@ Jan a @ av)

List-I1

(D Homeostasis
(ID  Homology
(III) Comparative Anatomy

(IV) System of Nomenclature

(V) Natural History

é§§-ll

O o @véoso
) 3ok

() Hoz8¥ 588 Joym Y90
AV) >sswm 535%
(V) (988 3o

Rough Work :
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PHYSICS

81. A wire of length ‘L’ and linear density ‘m’ is stretched by a force ‘T’ and the frequency is
n,. Another wire of the same material of length 2L and same linear density is stretched by
T a force 9T and its frequency is n,. Value of (ny/n,)) is,
Ny SA

—— ¢

L 8%, ‘m 8% Fo|dd Ko ¥ 8K T weos FEEBE50. ood
4 FL 2SR50 0. oB 8ogos® Fohnd, 2L PEH, ©d Thob oBS Ho H:6°
LT 284 9T woos® dboonds i T3:Sgo n, wowd (n,/n,) Jeos,
X a1 ) 1:3 anzz @ 1:2°

82. A pipe closed at one end and open at the other end r_esbnateé with a sound of frequency
135 Hz and also with 165 Hz, but not at any other frequency intermediate between these
\"\(6 two. Then, the frequency of the fundamental note of the pipe is

e Vo v 3D B0 IEE D56 BED HoB Ayo 135Hz %6050 165 Hz Sdiparge
Vﬁ* 3 V8" eHTrEo Bos, D & Bod THrHTge Hofs IV D FI:PSgo
' FIr eBH7E00" Hodd. [LHPE Mho TWnky (@6 TIiRsgo Deos

/(4)/15 Hz (2) 60 Hz (3) 7.5 Hz (4) 30 Hz

83. A small angled prism of refractive index 1.4 is combined with another small angled prism
of refractive index 1.6 to produce dispersion without deviation. If the angle of first prism
is 6° the angle of the second prism is
14 38558 m¥o Ao dgo) Smode dvu¥o, 16 SEFSS Mmfo Ho Tods
D300 o 6808k, dYoso THoa P dwo FoT oo =8dH5Swdod.

3 Y-
BES DHE §'n0 6° wond, Tods do¥ w0 ‘foﬁ}’: & Lé-)‘;gé
- 2\ :
M) # @ & ©o N @Sl
[€xy 2

84. The magnifying power of the astronomical telescope for normal adjustment is 50. The focal
length of the eye piece is 2 cm. The required length of the telescope for normal adjustment

is

X;ﬁ‘efdb,;&) Dz Sfernd® 6315 ypd o wIES rSFgo 50. w§ Ko
SPergoddo 2 cm. dEe goa)"éooéo é_)odéei’o{) A SrEE0I0 FEY
(1) 102 em ){::o om J/980m @) 25 em

Rough Work
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85. Light of wavelength A from a point source falls on a small circular obstacle of diameter ‘d’.
Dark and bright circular rings around a central bright spot are formed on a screen beyond
the obstacle. The distance between the screen and obstacle is D. Then, the condition for the
formation of rings is, ‘ |
o Dodo =¥%o H008 ddodBgso A Ho s708, ¢ Fgoo Ko D) Syes
8y 3880 g DAID. ¥ sF08508 Do Sogsg wo&y Sobr Sog8Boady,
SgBWY  Sye st VP w3880 wsdo 635 a8 B8 NS 8 grow.
BEK, 05880 RNEg drdo D edyk be0 D8 EEI8 I oS do%Boo

‘ ~2
(3) daz ) Ax

86. A bar magnet of moment of inertia I is vibrated in a magnetic field of induction 0.4 x 10* T. The
time period of vibration is 12 sec. The magnetic moment of the magnet is 120 Am?2. The
moment of inertia of the magnet is (in kgm?) approximately

T addg (grdo¥o Ko a& Soardsadpodo (DO ®7 08 F ($o 0.4 x 107T &F
o FoDI S0 TSowd08. o) oI S S srwo 12 sec. wofodyodo Voo
©BoI") 08 (rdo¥o 120Am2. é—soSob‘z,_oéo gy wdde (o Dwad DS,

kgm’o st _ ‘% ﬁ/\f':&
172.8 x 10~ | @ 2172102 (~ ({ |
(3) 1.57 x 1072 @ 1728 x 102 |y - N g
L

87. A short magnet of magnetic moment M, is placed on a straight line. The ratio of magnetic
induction fields Bl, Bz’ B3 values on this line at points which are at distances 30 cm,
60 cm and 90 cm respectively from the center of the magnet is

M o) o8 oo Ko ¥ VS) Soarafodryodo ¥ To g o308,
®dod) o8 To$o H0d & T 58%5m 30 cm, 60 cm, 90 cm Srdos® DSy
Dochipe B¢, wandyo8 (b6 F(ees B, B, Bo 9438 \W%%MWW’
(1) 27:3.37:1 2 373:1:27 — %
Ms:&n @ 1:2:3 M‘ugq

gl

Rough Work Lot st @ 3
(51‘@/? @j} k _<
o Y el ' Oy 1O
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88. Two capacitors having capacitances C, and C, are charged with 120 V and 200 V batteries
respectively. When they are connected in parallel now, it is found that the potential on each
one of them is zero. Then -

C, 50005 C, 3365y §0AS Tods 3B M 120V $008 200Vo
arghbod 0B uIfoTdhagron. FEIDpd ddroddon §0%8, g8
58 o0 NG PBRABS WI) ob. ©d P&

(1) 5C, =3C, (2) 8C, =5C,
(3) 9C, = 5C, _@3C, =56,

89. A parallel plate capacitor with a dielectric slab of dielectric constant 3 filling the space
between the plates is charged to a potential V. The battery is then disconnected and the
dielectric slab is withdrawn. It is then replaced by another dielectric slab of dielectric
constant 2. If the energies stored in the capacitor before and after the dielectric slab is
changed are E, and E,, then E\/E, is

GOV 831088 boko BFBeb S @TTRY 5°EE Rorofo Bt 5°¢% 8dy GoD
B>DHE PBYSS V ofodeo yD8S0 Fohadod. wgedd DI &
B0y BBV 5°¢8 porosn 2 do $003nE 5758 OBy Boodd
BBy wior Powdd. E>BOE S8y 5'G0 Ird)E S0, B:0)S S8
ol BT>DOEST Jog &d) ¥Hor E; H0dn E, wond, E/E, deood

W 44
i v O 4 ) 3
a%%) :. ot 5 @ 3

90. Copper and carbon wires are connected in series and the combined resistor is kept at 0°C.
Assuming the combined resistance does not vary with temperature, the ratio of the resistances
of carbon and copper wires at 0°C is (Temperature coefficients of resistivity of copper

and carbon respectively are 4 x 103/°C and —0.5 x 107%/°C) |
oh $o005n 5835 HAos (FBS Sodagron. T8 Howrd I 0°C 348
Hoswdod. HoR/rn D& go c‘szg‘u‘féés S8y BB ©508°08 0°C 96 SRS

$500%» oo JSgro ARHB (o°H By Hoddw $E)S T &R DEP S ES

Homsres SEBm 4x10732€ 550050 = -0.5x107/°C)
1 4 A2) 8 3) 6 4) 2
Rough Work ?- - ﬁr’/&
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91. In the equation (P_B']= KgT’ where P is the pressure, y is the distance, ky is Boltzmann

constant and T is the temperature. Dimensions of p are

1l vy
YV ( J T ™ asgedd 2Do¥sndndoss P DASIN, y Srddw, ky STEQHS

PB) kg

?80"05{)03 00 T e S, B Ty oo

(1) ML'T? ) MOLTY (W:‘"rz (4 MLOTC
¥

192, A person reaches a point directly opposite on the other bank of a river. The velocity of the

\ water in the river is 4 ms~' and the velocity of the person in still water is 5 ms™'. If the
width of the river is 84.6 m, time taken to cross the river in seconds is

a8 $g8 M) 38 g Srdm Ao HodHD VHhwryde. $8S

N8 IAdw 4ms! So605n dijo JBS' ¢ Sg§ FAsH Sms!. 58 Toeo) 84.6

m @ondSt 381 oréw T D0 Sod ESoost
(1) 282 ) 9.4 BES 2 (4) 84.6
) | Y \

93, A body is thrown vertically upward from a point ‘A’ 125 m above the ground. It goes up
 to a maximum height of 250 m above the ground and passes through ‘A’ on its downward
journey. The velocity of the body when it is at a height of 70 m above the ground is
(g =10 ms?)
¥ SV9Q Ford 2008 125 m B SE HI) DodH A S0d Jwpm DS
DJIEE58. ¥ SN Frd 3008 250m H0H JEIIH oI, ¥ Y (§odH
aéozﬁoél@éo, A Koom FEr, Frd 908 70 m Qdae® HI QG T BB

(g‘lOms )

1) 50 ms” }}/)/66 ms“] (3) 80 ms™' (4) 20 ms™

94. A body of mass 300 kg is moved through 10 m along a smooth inclined plane of angle 30°.
The work done in moving in joules is (g = 9.8 ms™%)

300 kg ($530°8 o 2.8 $0H), 30° Fodn o DI Tw éoéx Jowd 10m
SD05TBowdI38. I SO0 TASobes® 200D B, TSHYS® (g= 9.8 ms"2)
(1) 4900 (2) 9800 M?OO (4) 2450

Rough Work s - mags‘nﬂﬁ —_ é
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o e e /BN

\fobﬁf:i't

. A balloon startmg from rest ascends vertically with uniform acceleration to a height

of 100 m in 10 sec. The force on the bottom of the balloon by a mass of 50 kg is
€=10ms?) )

28 DorS DiyoRd 08 Dy Deopm HISEwENE B8 FHIr 10 DL
sodns® 100 m d&% B, 50kg ($530°8 © Bors edohd arﬁ‘o’.m ool
Sk wodn (g=10ms?) o |

(1) 100 N . o (2) 300 N

() 600N @V M N

Vi

5

¢ -
v

96.

Three particles, each of mass m, are placed at the vertices of a right angled triangle as shown
in figure. The position vector of the centre of mass of the system is (O is the origin and
i,j,k are unit vectors) -

¥ vons’m (BFozdn Ty %gas»o SG J0rdo VDTS | BSDgor e Do ISt
Srdedse HoSwdID. v e8P (BH50°3 ToER) FO H64 (O-Hare oD,

?,},Ew CESCIRT-L SN

(1) /-;—(aT-l.)’])__ | ) %(aﬂb})

3) %(a?—b"j) | /m/%(a-i'+b3) ‘

Rough Work
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A ball of mass ‘m’ moving with a horizontal velocity ‘v’ strikes the bob of a pendulum at

rest. Mass of the bob of the pendulum is also ‘m’. During this collision the ball sticks with
the bob of the pendulum. The height to which the combined mass rises (g = acceleration

due to gravity)

‘m (855078 Ko af w08 §8z VIrodd Jdo vV & Eeodr Jovde ?3&3@5‘
DI) a8 STo¥o TnE, Modod o836, Sfodsn Mody |8Sgor3 Erae ‘m'.
% 0DHrS0S° 208 SFoEY K0dE W I)bond, Doy ($Hg0°8 D8
[CRADJENE (g = Hodody &g8mdo)

v

4) 2z

v2 2 2 2

4g

98.

A 3 kg block is placed over a 10 kg block and both are placed on a_smooth'horiz'ontal
surface. The coefficient of friction between the blocks is 0.2/ If a horizontal force of 20 N

~2

is applied to 3 kg block, accelerations of the ‘two blocks in rhs are (g =10 ms2)

3kg |BDg0°R Ho 28 Q3o 10 kg Bdgord o vs’aoﬁ"é 85 B BodwdI0
DOX» ¥ Tody af DS §8z VIr0dd SodoD YHowwdId. @ Todk
880 o6y Bogm MmEswn 02.3kg ($950°8% 20 No §8z »8rodd weo
(HPTrAoDIYE, © Tod BIRe dgdmdnes, msos® (g= 10 ms?)

e M
| £oF
p=02 |3kg}—> 20N NEF o o
- ' . '\3(“("’9
10k ¥ o R
, : 12
8 ~ < 5
P ////////(/// e
13 14 13 . 14
"—‘90.6 —'!3 - ——,3 ) —30.6
m @ 3 3 7 ] 3
: o~
Rough Work ’ '»*3*\&) Y oo
‘ w N
Wﬁ l/} N
| >4 o’ v
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99. A stone tied to a rope is rotated in a vertical circle with uniform speed. If the difference between the
maximum and minimum tensions in the rope is 20 N, mass of the stone in kg is (g = 10 ms™)

c\/ w8 D $HAS cron ¥ JwdH IySIns® JEBB Ha8° 8D B0, u EBI8d
103, % S3gdo Tdw 20N wawd, cow (B3god kgos® (g =10 ms?)
(1) 0.75 2 10 3) L5 (M

- B | ‘ a
100. A particle mass ‘m’ is attached to a thin uniform rod of length ‘a’ at a distance of 1 from

the mid point C as shown in the figure. The mass of the rod is ‘4 m’. The moment of inertia
of the combined system about an axis passing through ‘O’ and perpendicular to the rod is

a >EYH Ko u¥ & 68 VI £4 $¢g Doy C 508 —Z- SrdSns® ‘m’

(35302 Ho Sndn HOIS® Sroaddgm $AD0I0EI8. 8§ (E3g0°8 4m’. ‘O’
T30 §38 wowdomr I wgo Sowsd Hoosny HHY Ty mddg (@rSrE0

L%

= ' Mass ‘m’ e
e ~ [ ‘/5( /
R : C EEgeam L T
oM & * 3
r r e W | . 3 X -
e G 0 4 ’ K ) ) “;/ s
yd ‘N\/\,\’ ' v I "0\47
& \%& v ! >
\ - A 2 w 2 N
’ Q\)’/ Q\hf\ ~$i>/ (}\V l\ 2 P 4 Qq

(1) I na Q) 27 1na? G 21 ha? (4) % ma’
48 48 48 48

101.1If earth were to rotate on its own axis such that the weight of a person at the equator
becomes half the weight at the poles, then its time period of rotation is (g = acceleration due
Y@o gravity near the poles and R is the radius of earth) (Ignore equatorial bulge)

FrdoggTe ¢ o 588 wBY FyTro 3§ PI) wdhHS® BHo wEHH™ G0
©&o, Frd &35 Wogr & 85 vfo Do BKMH$D) ond, o (DS 8 S
Sodn (g=¢§)aro 5¢ Mdg $g8min, R-grd agddsm) (Frsdgle 3¢
G20y S)Yogaodoéw) _

- 2R R ‘ R4 : | R
o = 2 |— = 2n [—
onfE e afE wnf

Rough Work o a - Y%%r - \ ey '&1/'\_ 3@0““‘%@1
‘ =~ AU
$=F 9 A0 A
A ' \.\\&*3 W
. ./9' -\
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102. A particle is executing simple harmonic motion along a straight line. At displacements r,
and r, from its mean position the velocities are v, and v,. The time period of the particle
is A -
a8 Eadn ¥ VETTy Toad HEY oy ¥ Sod3dw DBABH$3)8. &
D25 gD Feodn 08 TS Forw 1, LYo PIJNE Eodn IASver $EDm

v, $8050 v, Emdn Gos 3835 sosw — \&J\)
L U N
2_27"2 , (222 v =
o | 2T ol YL = V2 1 i
(1) 2n| 55—~ ‘ - (2) “™ 5 gy
Vi — V) I +r, \71/: oy L
- v '\t( _b\/\\“ 1"\«
IV RTS Sa .‘\V)’\\)
q1/2 = . 1/2 “ NN
1| vi+v? . (rzz —r ‘%\Q\ ‘Q”\a‘\d‘“f\ v Q\)
G 3l R e B s S
|- . | | VI — V2 Vo) T Wy
,‘< G Ny \
103. Force constants of two wires A and B of the same material are K and 2K respectively. If
: 3 & . (WL,
the two wires are stretched equally, then the ratio of work done in stretching W is
B

&% 2ordod® VohadS A $o0050 B e Bods 8Ko »e Rorogdoer Sddbm K

$38a50 2K. & Tods Sdwts vIrSonr SHEVILoNT, T8 FKESBos 20AS
. g

v v Wa ‘”I’%®M !

DJw N8, W | -3

B
] 3 1
@ 3 (9«)/{ () 3 @ 7

104. Water rises in a capillary tube upto a height of 10 cm whereas mercury depresses in it by
3.42 cm. If the angle of contact and density of mercury are 135° and 13.6 gm/cc respectively,
\'f then the ratio of the surface tension of water and mercury will be nearly

a8 BIDE0%08s HE> 10 cm QB J&do, 520 535656}6&50; @050 342 cm
Sodo. ;EID égd;gseaéoo 0050 Foddes 3% 135° o805 136 gm/cc

@onI QB VB> H20 05w, D& B Jwe Sodlgdo A8 z0Wodvotorr
1 13:2 (@ 5:16 By 16:5 4 2:13

Rough Work ITTRT (s s h ' 2
‘TV\g'( =
e G WY a @/
NI 00 :
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/ = Q»/
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105. Two capillary tubes of lengths in the ratio 2 : 1 and radii in the ratio 1 : 2 are connected
in series. Assume the flow of the liquid through the tube is steady. Then, the ratio of
pressure difference across the tubes is | =
Aero PEPHo 838 2 : 1 $005 Fgroro VA8 1: 2 o Todo S 9y
Fareo FES® Eonbhad 3. Fod0 orgo (88 (Dardrdn RESw 6518 w5048,

OD P& Agro Do DESSve Bae I8

(D) 1:8 2 1:16 /(3)/32:1 4 1:1

106. When a liqﬁid' is heated in a glass vessel, its coefficient of apparent expansion is

1.03 x 1073/°C. When the same liquid is heated in a copper vessel, its coefficient of
apparent expansion is 1.006 x 1073/°C. If the coefficient of linear expansion of copper is
17 x 1075/°C, then the coefficient of linear expansion of glass is |
‘\/ a8 mar FEST o (Sod) F& TBIRYE o So¥g o588 Momdn
03X 107/°C. o8 S50y, oA Bt T8 Hos e oD Sy¥g Tg8 S Hom g0
1.006 x-1073/°C. o~A B g8 S Hom¥sn 17 x105/°C wond e B¢s 8%
o 50 - ' -

(1) 85x107%°C  (2) 9 x 10°%°C /@67 x107°°C  (4) 10 x 107°C

107. A horizontal uniform tube, open at both ends is containing a liquid of certain length at some
temperature. When the temperature is changed, the length of the liquid in the tube is not
changed. If ‘o’ is the coefficient of linear expansion of the material of the tube and ‘y’ is

the coefficient of volume expansion of the liquid, then

Tod IPo 885048, § Se bdrosdom &) o8 2568 @ dndod §od
AR IEH af (B350 ¥ sTFAS & Sk, Gt eSS S0 Y Qo A&o
S (BS50 FEH $rETE. @ oD dordo W B Tg5S domEsw
ol Ho00H @ ($5Q HodHBSrw 8% Hosdn ‘v, wownd, SRR

(1) y=2a Y = 3a (3) v =4« 4 y=a
Rough Work 256 N S EWNE L
& (&P)EHL’ \ ?V"L 775 %‘ﬁ‘” 'V%fé D&*\"/ o™
€7 T g0 T sob PR N
pr= 0T LNt e e VO e NI
R < S T o IR
AM203B ( "¢ 3% 2s Lo

3 © l\)’kjv\O 7
J L d
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108. Match the following from Table A, in the case of gases, twith those in Table B
Table-A ' - Table-B ‘/@
VZ x\ri AN ~
SN <
o\

(a) Work done in isobaric process & (d) nRT log, (7)
.

13

!
. , 2 , NG

(b) Work done in isothermal processé- () P(V,-V)

. nR(T, -T)
(c) Work done in adiabatic process H __Ty-——l_—

_ _ (g) Zero
FHBRYPHOS® & (808 I VYL A 508 HGE B 738" 2D Sodn
DGE-A $8%-B

' (v
@) 28 Dd> HEhos® 20AS DD . (d) nRTloge(——ZJ
P Vl

(b) o e&FHS (H8ches’ =0A5 B (e) P(V,-V))

o " - ﬂR(Tl—Tz)
(©) :86’5035' (B8 BS® 20AS DI ® Lr ¢
. (g)  Ardgdw
/()aae,bad,cef 2) a->hb-o>gcoe
B) a>e,bo>d cog 4) a—>g,bo>hc—oe

109. Two cylinders A and B fitted with pistons contain equal amounts of an ideal diatomic gas
at 300 K. Piston of A is free to move and piston of B is fixed. Same amount of heat is given
to the gases in the two cylinders. Temperature of the gas in cylinder A increases by 30 K.

H Then, increase in temperature of the gas in the cylinder B is (y = 1.4 for diatomic gas)
Snhoisoes DAcT0ED, A 200050 B vwd Bodk “grﬁvw PDIFS DO X d
Ao a8 ©88) 8gDISrmed FB0HS> 300 K 5¢ SOAB0I)D. A TWoE)
SR © EJw 'fosdz)m WO W30, B T SwnoFdn %déwm DAoBwEI8. Bodd
{gr&oé‘f{) FAENHOLH JXFS HOIreY [ I» aHgwdI0. A Qo0 S08Y
TG sFHS 30K DOAIS. B prddn 3080 dwd) sFASS® DM

(BIHE S, T°0508)S 8 y=1.4)
(1) 24K 6 K /6(54_ K 4 42K

Rough Work . "Gy ATty 41 - m«ﬂﬂAw %JL%
- < Tso S) © / N a4 1ﬁ
W Cosso o (oot PR SO 28
o%ﬁ” %5 . L/ U\
B 0
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110. The temperatures at the two ends A and B of a rod of length 25 cm and circular cross
section are 100°C and 0°C respectively. In the steady state the temperature at a point 10 cm
from the end B is (Ignore loss of heat from curved surface of the rod)

-

25 cm 4% fo Symed HggISsn Ho of §§ Tw Tod DISw A
$o0050 Bo 3¢ a@fdoo I8Jm 100°C Hodaso 0°C. Qosd i’g@c)‘“ B %008
10 cm Doy 5§ SRS (5§ SESro H0d 6 $FI) TS BLEIEHEBD)

(1) 60 °C ) 80°C (3) 90 °C (@ 407C

111. The necessary condition iﬁ making of a junction transistor (E-emitter, B-base and C-collector)

‘\/ )] E‘ and B are lightly doped and C is heavily doped

(2) E is heavily doped, B is thin and lightly doped and C is moderately doped
E and C are lightly doped and B is thick and heavi_ly doped

(4) E and B are heavily doped and Cris lightly doped

Dod L&‘QDQE&J&O&‘&%O&J&@&J gWygom BoWdoDY VNS (E-agrdso,
B-sgrdo, C-0¥8d)

(1) E$:00%0 Bew dgoyorr $rd88mo Bod, Cedgdsom $r888m0 Tod &owod

(2) Ewdgdsor srbssno Sobwnd, Booym 4ob bgojom sré8mo Sownd,
C Do Sr8E8wm0 Bod &owod |

(3) E £:0050 C dgoyorm Srb88mo Bod &od B Loodomr 4od wdgdEom
588800 Bod &otwod

(4) E 00050 Beo wdgafomr $rd88mo Basowd, Cdgoyormr $rdigmo Tod
Godnod

. . ,
Rough Work | I ’ = \ Qﬂ,ig— . B - s
\ | W X532 Vo 2 o= 3%

\oo 5 -136-080 Ty
/Qé:t '}p//e Mé@w,(@ o -
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112. A pnp transistor is used in common emitter mode in an amplifier circuit. When base current
is changed by an amount Al, the collector current changes by 4 mA. If the current amplification
factor is 60, then the value of AIB is

28 prp (DR 6% #5038 B6EGE DESost o $¢¢ Soabos® avTrAoT
8. s Hadrost Srdoy dewod Alg woRIDypdo, DESS L‘éa"b"?éf B30
4 mA. (BTE IGE HmEo 60 wows Al Dood O o

=~ O TOY

(1) 15 pA - (2) 240 mA o? BT
%.6 nA 4) 60 pA Lpp* )%4

113. A U?* reactor genefates power at a rate of P producing 2 x 108 fissjons per second. The \}’
energy released per fission is 185 MeV. The value of P js . K‘)@" @O
/(1)/g5y9.2 Megawatts | (2) 370 x 10® Megawatts B °%\\mi%n
(3) 0.59 Megawatts | (4) 370 Megawatts A \©
210" 2E50% D08 Keor Fiog o U 0osngds P Gens’ B go 2do @i

5T %00, a5 DD‘)é’Bé Beod® ¥8 Deod 185 MeV. @‘éo}ado'P [ Dm&‘)\o\gg\\\v

. i . . ~
(1) 592 e &) | (2) 370 x 10® Rore &) 0‘0\0 <*<>'er
. W24 e
(3) 0.59 e >y | (4) 370 Do &) ol
o
e of us - - g /@
114. The purpose of using heavy water in nuclear reactor is . - .
P rp & feavy . , (= —¢ ¢\ (S h
(1) to increase the energy released in nuclear fission : \ N
| _ g9\ o
(2) to cool the reactor to room temperature Y -~ 5 X
(3) to make the dynamo blades to work well Y L
(4 to decrease the energy of fast neutrons to the thermal energy | ‘ksr\'
Seg § oSadho OXB,EES® a8 200d) $DTrACSILE 5*E S > VV
‘ ‘ v
1) 308¥ 2DYBS* Ddbose g 4§ BoBS < /
(2) Oairgsdy Ao SRS H6H Spadhes S

3) BIBr B o HIFBob ,
4 DS drgierg 480 ehow 98 $8% SHoWbH
Rough Work | '
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115. The K —X ray of Molybdenum has a wavelength of 71 x 10712 m. If the energy of a

Molybdenum atom with K-electron removed is 23.32 KeV, then the energy of Molybdenum
atom when an L-electron removed is (hc = 12.42 x 107 eV)

570850 K- X 88mo To¥ $80f BEgo 71 x 1072 m. K-£856° dograss

v FoAoDIPG I5r0PS0 DIy WnE) 8 23.32 KeV. ods* L—éégé‘&)

Q09N FoAoNVIPG HrOPID BESrwoPy F§ Jewwd (he = 12.42 x 1077 eV)

1) 175 KeV (2) 40.82 KeV
" (3) 23.32 KeV (4 5.82KeV

116. In Moseley’s law /v =a(z—b), the values of the screening constant for K-series and

L-series of X-rays are respectively

IR o fv=a@z-b) &°, X-85wro K-(F3&, L-(A38 S8bm cojzr.‘i)or‘io
omos’o ao.ﬁzr P ©3 N e

) 1,64 (2) 1,4} | 3) 4,6 | 4 2,4

117. An electron beam in a TV picture tube is accelerated through a potential difference of V

Volts. It passes through a region of transverse magnetic induction field (B) and follows a

circular orbit of radius ‘r’. The-‘induced‘ magnetic field (B) is
a8 8 DEYS é;rsa.»ef‘i) Qo 9de Homo V Lgiwo JeYdhd ﬁdo orgo”

ésdcﬁlbﬁaéw Bohudse. & Dowdn af 8Igh eI pod g ($o (B) oogo°
JPS, T Tgrdo do Dy b Do SrEHnde @B00%08. @Iy od

=5 ’\7 ‘ v V
(#0808 T (&0 (B) %7,\, o S \s«:@m v@\&%ﬁﬂ
2mV 2mv 2mVr 2mv g%\/
CA e RN e 3 = Oliv~2
Rough Work - 33‘& — p 6,) (e, h- o )
‘ % 4 @C 6
}b oﬁiﬂ‘\& )4 B¢ B\'\) '\'9‘ 25
'
e, B : . 06 ’\)VL‘D =
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118. A 0.01 H inductor and /3 xohm resistance are connected in series with a 220 V, 50 Hz
AC source. The phase differencg between the current and emf is

(1) 5 radians ~ radians () yradians  (4) Tradians -

28 001 H (b8fo 5:00n /3 1 sdwo 96¢0d (ks 220 V, 50 Hz
D57088 w358 Sodagron. DB ITIIVE B0 Derwld Hgy STFS0

() 5 Baakgs (@) ¢ g () § Jaaks () ; Taahg

119. When the temperature difference between the junctions of a given thermocouple is 120°C,
the thermo emf is 30 mV. The temperature of hot junction is decreased by 20°C and cold
junction’s temperature is increased by 6°C. The percentage decrease in thermo emf is (assume
thermo emf is directly proportional to the temperature difference)

adgedd w¥ PN oS’ Dogeo B¢y e fer Fdo 120°C &I3ydyd,
R dore 30 mV. 38 Hod Do) e dE 20°C SHod, S Dod TInE)
essﬁfu‘ié 6°C 2008, 8% Joradt $Hde Fdo (63 e &Q‘Lﬁw 5788

30 S, Sodr S 05 &oc‘.ﬁoéo e—pzéog‘o&) |
(1) 43 () 2.16 (3) 20.4 mﬁ_

120. The emfof a cell E is 15 V as shown in the figure with an internal resistance of 0.5 Q. Then
the value of the current drawn from the cell is
FH0oS IrDSd HPovo gy oo 15V, &90&56;55450 0.5Q wond & Hobo -
3008 8F 3288 DEFE (DT dood

~ N
o5~
% 1 Q ‘\L-‘ P
26Q
0.5Q )
{9’ ~ n
W W RN
$Q  10Q L%
1 3A @ 2A @) 5A MA
Rough Work B, 8 | 4
@K‘ec,k C’m}.o‘{ On @24‘5@/
(G)\nn»? (96‘") 20V o 190 R
~26 Y o ,’QLD> ®Q+§/) @ﬂ 35 ] e
i\ vi € of h , M K e
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CHEMISTRY 5 \ .
121. Which one of the following statements is correct ? |
(1) Sucralose is an antiseptic ‘ /g) \Lactic acid is an antimicrobial
(3) Seconal is an antipyretic (4) Chloroxylenol is a tranquilizer
Bod APt ba D0 T/dB?
7(1) DES*E a8 SrolRE (2) o85S vdo a8 SrolHE* DS
3) DEFS 2.8 238 a0l | @) §°8° 3OS o8 (wrolg Db

122. X P Glucose—'iN—gL) Y
What are X and Y ?

X Y
n-Hexane ~ Gluconic acid
(2) Gluconic acid Saccharic acid 4—
(3) n-Hexanol Saccharic acid~~
(4) n-Hexane Saccharic acid

X g8t N0, Ly
X %0080 Yeo 29 2
X : Y
(1) n-%rdS 3r5*08 ed0
(2) 4r8°I§ wdoo  Hs8§ w20

(3) 17 dSS v505 wdo
@) 0[S - 9505 wdoo
Rough Work
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123. Identify the pair of condensation polymers from the following :

9/ Terylene and Nylon-6,6

(’2) PVC and Polystyrené

(3) Polyvinylether and Polyisobutene

(4) Neoprene and PVP

8od &8e® DovosS FOBE =85 Hr0oHySw :
(1) BOOS %000 Jer5-6, 6

(2) PVC Z080sm 20365

3) FOIIS 656 533053:: >0 m@‘wgés

4 JT(HS Bodakn PVP

124, The order of basic strength of CsHsNHz (1), CZHSNH2 (2), (Csz)éNH (3) and NH3 “4) is:
\ C()HSNH2 (D), C2H5NH2 (2), (C,H,),NH (3) 96 o NH; o 56 »o (ESoda

(1) 1<4<2<3 /@{1<3<2<4

(B) 4<2<3<] 4) 3<2<4<]

125. Which one of the following reactions is mot correct ?

8od 155566’5 WY "«oéé’i::sé o~y

Mn(OAc) /air (r®)

1
(1) CH,CHO + > 0O, > CH,COOH

Micoderma aceti (395‘30‘& D)
(2) CH3CH20H + 02 =

> CH,COOH + H,0

- (Hco,
— CH,COOH + Mg(OH) Br

3) CH,MgB
3) 3MgBr D HO"

5,
_MCH3OH + CO Ca/A, pressure(oDdESO)ﬁ\ CH3COOH

Rough Work
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126. Which one of the following reactions is nof correct ?

(800 g’ I8 VOTHEE s? -

% /u/)/ (HCO0),Ca + (H,CCO0),Ca —=—» 2CH,CHO + 2CaCO),

(2) CHyCH(OH)CH, —*3%_; CH,COCH, + H,

(3) CH,CH,0H 20, oy cHO + 1,

CaCl
H@

2

(4) CH, = CH, + PdCl, + H,0 — CH,CHO + Pd + 2HCl ~

127. The pair of chemicals used as food for yeast in the fermentation of molasses is :

BoeorBH Pogy 8wy (Do S5 wHFCor sHBrAod SdcdrTre

e |
(1) (NH,),S0,, Na,pO, /{ (NH,),S0,, (NH,), PO,
(3) Na,SO,, (NH,),PO, (4 Na,SO,, Na,PO,

128. Whiéh one of the following is chldropicrin ?
Bod &8s° §°6°BES D2

(1) CCL,CHO (2) CCl—C(CH,),

|
» OH
)})/CC13——N02 o 4) CHCIZ—CHCI2
Rough Work
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129. The correct Fischer projection formula of (2R, 3R)-2, 3-dihydroxy butanoic acid is

(2R, 3R)-2, 3-B J"Lcréb aoogéossooag wdd50 Ty DO WS a6 Loafsﬂ‘&:m

@Tdogu‘ :

v

(3) CH
HO-——H
HO—— H

COH

2 | CH,
H —1—OH

HOo——H

COH

@ COH
H —— OH

CH

130. Which one of the following causes cancer ?
)X(& 1, 2-Benzpyrene ‘ (2) n-Hexane

(3) 2-Butene

(4) Cyclohexane

1808 &8s b 575)8% 503(1'&'.50533:60’7

(1) 1, 2-BoL8S
3) 2- mgefs

2

n- m?j
@ 85

5
w8

131. IUPAC name of -~

(1) 2-Methyl-2, 3-diethyl pentane
(3) 3, 4-Diethyl-4-methyl pentane

/j)</ ooy, [UPAC 8 :

(1) 2-08S5-2, 3-BaBS DoV
(3) 3, 4-BaBd-4-NJS DoV

_,(/Z)ﬁithylé, 3-dimethyl hexane

(4) 3-Ethyl-4, 4-dimethyl hexane

2) 4-35S5-3, 3-BRBS T US
@) 3-2335-4, 4-BNJS T[S

Rough Work
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132. Carbon and hydrogen in an organic compound are detected as

a8 SPENS ‘{oﬁog’@%mé‘&) 5°6)S H0bn (eSS0 ™ 0 J0.
(1) CaHCO,, CaCO, | (2) CaHCO,, CuSO,5H,0

(7 €aCO,, CuS0,5H,0 ><4{ CaCO,, Cu(OH),

133. Match the following

List-I List-II
" (A) pH of unpolluted rain wate:,t\/ () H,C=CH-CHO
(B) Acid rain 1 ) 5.6
(C) Acrolein ¥ () No,, €O,
(D) Frgon(\)/ (IV) CE,Cl,
| | (V) CaOCl,
(50d 8D 285K How
as'fi)w I g s 1]
(A) swhg 68 =5 He pH () H,C = CH-CHO
(B) By S | ) 5.6
(C) JEDS (1) NO,, CO,
(D) (3055 V) CF,Cl,
(V) CaOCl,

The correct answer is :
QOIS JSrErIdw

@A B © O
M ay @© dJan av)
@ @O da dn av)
@) a avy o
H a @n O av

Rough Work
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134. During the manufacture of cast iron, the slag (CaSi0,) is fohned in

jl( Zone of reduction only -

(2) Zone of fusion only

(3) Zone of reduction and zone of fusion

(4) Zone of heat absorptibn

S a:()oéoa O ITNE SABrdSt, SFH Seeo (Ca8103) ngdoé&
(h éo&ééea Sododns® Srdgh

(2) (BFSS LooBodns® S|

(3) E0HE8m 0w (BIFBS Lodoros®

4 &3Fan Hodosns® |

135. Observe 't}-le following statements
1. Lanthanides actively participate in chemical reactions.
2. The basic nature of hydroxides of lanthanides increases frofn La(OH), to Lu(OH)3.7<.
3. Lanthanides do not form coordinate compounds as readily as d-block metals.
808 STmod ‘éb%’@ozﬁaoﬁw :
1. orodI8en 800% WEGOS® W FSTotron
2. o836 FE3 6o g8 dgarddw La (OH); %00& Lu (OH), 5 DS E00
3. orod38Ge DG Iy ETroln d-grd SFHtecd SOYm 253D,
~ The éorrect, statements are | '

VTS IJFwen
) 2&3 2 1,2&3 /a)/1&3 4 1&2

Rough Work
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136. Identify the correct set :
Molecille, Hybridisation Shape Number of lone pairs ~
| of electrons

(1) XeO, sp>d? ‘pyramidal | 1%
A2) XeO, sp® pyramidal _ 1
(3) - XeF, spd? planar _ 3
4) XeF, sp3d - linear ' 2
RO TS DA $o80w0d :

W0 Ho¥bE8mdn @&H3 2008 JOFTIS WobO

‘éospg

(1) XeO, sp°d? DINGS 1
(2) XeO, sp> DEDES 1
3) XeF, = lsp’d? SERESFAY 3
(4) XeF, sp’d dh oS0 2

137. Fluorine reacts with KHSO, to form HF and X. Which one of the following is X ?
g°65 KHSO, & $EgT08 HF $:608n Xodo Q8 ydweds. 1808 8S° X 2872

(1) so, (2) K,S0, K80, 4) H,S

138. For the equilibrium A(g) = B(g) + C(g) ; Kp = 0.82 atm at 27°C. At the same temperature,
its K_ in mol lit™ is : (R = 0.082 lit atm mol™' K1)

27°C. 8¢ A= B+ C,, ®%e388 K =082 o). o8 a8 5§ od
K, Dood 3 &los® : (R=0082 8 devp 3! K
) 0.033 2 33 (3) 1.0 (4) 033

Rough Work

\ée’?\f f% +€/ '766\/ . KQ )):) 7L(’,Q> & %}(:x
3\<\/ ’np)ﬂ) \ WX } )%; gx 3

, 4¥,5,
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139.1f the solubility product of Mng at a certain tempera%ure is 1.08 x 1079, its solubility in
mol I"! i ‘
%8 8% e,aersmé B’JCS MgF, [or$osoer ogo 1.08 x 10710 wond, od LcréeSoﬁoé

S ol R
‘ 5 ' —4 L(’”% x\o > %‘S
(D) 1.04 x 107 2) 7.3 x10
D .
(3) 3.0 x 107 | /(1)/3.0 x 107 37“/
140. In the reaction
if N,O, is formed instead of N,O, , the AH value in ki is : & W
, - -1 T
('AHsublimation for NZOS = 34 kJ mol™) 7 Ig 7' g?ﬁﬁ /‘E .
S a"//
= : Som '
$6g6° N,O; wdoey N0y 96383 AH deo¥ ¢ \5} AN
0 %) ' &‘,‘ ,
(N0, 8 AH o 54 8 & SrSh % S

. /
% ~165 () -57 %/ 6@ |
+219 ¥ -219 y |
| | )@/ ‘ %&
141.In which of the following reactions, H,0O, acts as oxidizing agent ?

& (808 ddgoé" ) 15656‘ H,0, eégédsﬁm HIDB0S27?

(1) Cl +HO —~+2HCI+O
(2) Ag20+HO —-)2Ag+HO+O

X\
moist, $&
3) 2NaOH + H0, = Nay0, + 2H,0 m;qf
( A
KNO +H02—>KNO3+HO
\)&«f‘i . ALHSTL
Rough Work
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142. Zinc reacts with hot and concentrated NaOH and forms :
205, 38 00w Mg NaOH & SEgT0d IEPo$odd

! y{ H, - ‘ (2) Zn(OH), + Na,0
3) Zn0 @ o,

143, Orange red coloured monoxide is :
? @TVoR o)_cfo@\ o Ho I3 yiko
(1) K,0 (2) NaO

- (3) Cs,0 @ Li,0

144. Observe the following statements :
1. H,BO, is used as antiseptic

2. In-B,H., each boron is sp? hybridized/

2%
‘3. Aqueous solution of borax is alkaline in nature
Lgoé DdTmod H03DoBId» : |
1. H3BO3§) BroBDREM Frderdd
2. BHS, (58 05 sp? HogSdsSnsn F0856
) 3. S0y moEdndn g8 $omd) §OA sowod
‘ The correct statements are :

Yo@@ozé dNTdeo

(1) 2&3 | /67L2&3

(3) 1&3 - 4 1&2

Rough Work
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145. Assertion (A) : GeF, and SiCl, act as Lewis bases.
Reason (R) : Ge and Si have d-orbitals to accept electrons. _ v -

The correct answer is : _ _
(1) Both (A) and (R) are correct, (R) is not the correct explanation of (A)
(2) (A) is correct but (R) is not correct

))'))(A) is not correct but (R) is correct
(4) Both (A) and (R) are correct, (R) is the correct explanation of (A)
anééw,(A) : GeF, $:00» SiClien erongroreom HITITox.
semdn (R) @ JogsSosn S8 e Ge wodm Siod® d-udyerevy) sotrow,
VOTDS VIFrGTIRD '
(1) (A) 32805» (R)on D0TDIQ, (A)0 (R) DTS b8 578
(2) (A) D038 57 (R) DoIL s7¢%0
(3) (A) 503038 7% 570 (R) DOTHS6
(4) (A) S08.050 (R)ow ’oé@oéé’), A)EH(R) DO TS, 5863

146. Observe the following statements :
1. The solubility of group V hydrides in water decreases from NH, to BiH,.
2. Phosphorous does not exhibit allotropyd__
3. The stability of group V hydrides decreases from NH, to BiH,.
508 Ad8medo $0390%08
I 8%, (o V 3rB&o |orddohed NH, %08 BiH; $8% $dd08.
2. FONED Srdrodorly (D880 IEs
3. e v ZB98e PESgdn NH; 3008 BiH; 38% $fodo0d
The correct statement(s) is/are :
50THE DHEm(e0)

y/I&3 @) 2

(3) 1&2 4 1,2&3

Rough Work
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147. Sodium thiosulphate reacts with dil HCI to form NaCl, HZO, X and Y. X reacts with NaZS‘
to form Na,S,0, and Y. Which one of the following is Y ¢ |

-

2\ sraano FTrHTE 203 HCIS 585506 NaCl, H,0, X 5005 Yo 3638808,
Na,S&* X SEgT0B Na,$,0, Ho805» Yo SEY8008. (8od T8S* Y 262

(1) H,S ) SO, _(3) ‘H,80, 4 s

'148.. The energy required to overcome the attractive forces on the electrons, w, of some metals
is listed below. The number of metals showing photoelectric effect when light of 300 nm

wavelength falls on it is :

§°0) &t QOFISO D& Jo v¥dn vorod eHKL0T %8, w, (8o aés_aa&:éé).
\\ - 3000m S50 Bggo Mo 5708 BASRG, 0B DEgE (BarBo WY TS
260.9,)5 :
(1eV=16x10"1)
Metal : Li Na 'K Mg Cu Ag "Fe Pt W
(Stéo0) |

wi(evV) : 24 23 22 37 48 43 47 63 4.75

16 @8 A 5 4) 4

149. If the uncertainty in velocity of a moving object is 1.0 x 107 ms™! and the uncertainty in

its position is 58 m, the mass of this object is approximately equal to that of :
(h = 6.626 x 1073* Js) | |

(1) Helium (2) Deuterium (3) Lithium /{’4)/ Electron -
DT 28 SN Bogy Fdos® wdFSEco 1.0 x 105 Sl 8368w
308" w8 ES30 58 D wownd o SNYH B3R s B (3550738
dIFS0 1 (h=6.626 x 10734 F*=2)

(1) %00 - (2) &rgdoosio (3) ©&so%o (4) dog9S
Rough Work \QL%\&C
Z’bw
ot s Al
‘ | : @/é’\c\;/ ™
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150. The correct order of atomic radius of Li, Be and B is
Li, Be 008 Be HEdoreo a"g:avg*o DOTS (oD
B > Be > Li “(2) B>Li>Be (3 Li>B>Be (4) Li>Be>B,

V.

.4'(’—

Ve
151. The number of o and © bonds present in acetylene are respectively Wy C/’?/

D0HOIS® Hod) o H0dsw T wogro Dowg HEDdM
J,Y/3 2 2) 3,3 . 3 2,2 @ 2,3

152. The total number of antibonding electrons in N, and O, molecules respectively is
Vadw 0, wmoPHostid) Indo vdoFE Jogrydo vopg IV :
) 4 2) 6,38 3) 5 8 @) 4,8

153. Consider the following statements for the reaction
I\(IO + 5KI + 6HCl —» 31, + 6KCI'+3H,0
I"is reduced to I\/‘ o
105 is oxidized to I,

1
2
/ IO‘ is reduced to I,
Oxndatxon number of I increases from —1 (in KI) to zero (in 1,)

Eod WEgs, ‘
KIO, + 5KI + 6HCl - 31, + 6KCI + 3H,0
JSEpod H03D0P0d
1. T, Izm oSo88mo Vol
2. 103, L w8)¥8wo B[odds
3. IO‘ L, ga%88mo [oddd
4. 1 Bo¥) viysdmo dopg -1 (KIo*) H008 0d) (I SH% ohod.

The correct statements are

ISISRES Y DT _ :
(N 1,2&4 ;(26&4 3)1&4 4 1,3&4
Rough Work
Pl '{/5ﬁ An" e* 'v\l" el Pt =
T 2ey®

H
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154. Two gases of molecular masses M, and M, are at temperatures T , and Té respectively. If
T, My = Tg M, which one of the following properties has the same value for both the
gases ?7 -
(1) Pressure (2) Kinetic energy RMS velocity (4) Density
T, $00d8n T, aF|dde & do TOH TdwHo ewmgroror S5Hdm M,
00050 My, Ty, Mp =T, M, ®ond, 808 a8¢® » Tods ardunHoH aT Jeod
fo S8 : ' |

(1) 3068 % (2) 8= 4§ (3) RMS 3o (4) Jo8d

153. The weight in g, of the non-volatile solute urea (NH,CONH,) to be dissolved in 100 g of
water in order to decrease its vapour pressure by 1.8% is :

ey wESod 1.8% $QoIad8 100 | J8S* FBAoTI0ND wardyRe
(D50 Sard0sr (NH,CONH,) gréden (m.od® :

Jh/ 6.0 2) 0.3 3) 3.0 @) 0.6

156. The boiling point of a solution ¢ontaining 68.4 g of sucrose (molar mass = 342 g mol™)
in 100 g of water is :
(K, for water = 0.512 K kg mol™)
C 100 | J8S* 684 (i wr(§E (vmogrdo = 342 (¢ IS ) deo |odewR
B RC AT o

. Q8 K, =0512Kkg 35! |
(1) 98.98°C Ml.OZ"C (3) 100.512°C  (4) 100.02°C

157. A certain quantity of electricity is passed through aqueous Al, (SO,), and CuSO, solutions
connected in series. 0.09 g of Al is deposited on cathode during electrolysis. The amount
. . . . o B vy
of copper deposited on cathode in grams is : 2 AL | % — €3
- - oe 199 6T D yelx 65
(At. wt of Al = 27; Cu = 63.6) | -%"’9/ 7 %de«g
a8 D8R DHODrw Ags HHD (Re3S® ODD Al, (SO,); 0w CuSO, [grderoibonr
BIT0DadI8. & IS8 IFRed® sFE I 0.09 (™ Al J§HBonsd.

S§ED N§eBThg 596 gl (ot g - |
(D.e°: A=27; Cu=63.6) -
(IJA‘; - (2) 31.8 (3) 0.636 “4) 3.18
Rough Work P s = ' , 1
¥ ) e -
0 S i L ﬂ( .S < \ kg/
() -an \60° o T § no_ SO 13
o7 s M(;v, e A
5 <l - Z 60 S %2 , w0
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iS& Molar conductances of BaCl,, H,SO, and HCI at mﬁmte dllutlon are XD X and X,
respectively. Molar conductance of BaSO at infinite dilution is

0308 DOS0 & BaCly, H,80, %600 HCl Srerb svirsse 3&H0m X, X,
2000 X, wdod IDIo $& BaSO, Jrorb FLES

(D) (X, +X, - 2X))2 @ X tX-X
BT X, + X, - 2%, 4 @ (X, + X, - X;)2

‘.J\
L,{\ gt

2
159. Atoms of an element ‘A’ occupy = 3 tetrahedral voids in the hexagonal close packed (hcp)

unit cell lattice formed by the element ‘B’. The formula of the compound formed by ‘A’ emdvL %
} ‘B’ is ‘ : W g B2

)
‘B’ Sareofdn DENEVS oaéS‘}e%oSo VS Loy hep) Ao FarDE S

2rofod’, Ber @S ar@vé‘ = etiSn A’ Sarof HESraeHoo eLs’fDoo{)zé:)

L
. : V ) P‘ o
‘A’ 55_050533 B'o domr oacrg A A : Tz

7 A,B @ AB, 3) A,B, 4) A,B;

160. The temperature coefficient of a reaction is 2.5. If its rate constant at T K is 2.5 x 10723 57}, the
rate constant at T.K in s is (T,>T)

¥ '&555 &ﬁ‘u‘i@ Koo 2.5. TK :)cs es 1565 Do omogéw 2.5 x 1073 =
wond, T.K $§ T Rorofo e;eS‘i (T,>T) '

(1 1.0x103 /Qﬁzs x 1073

(3) 1.0 x 1072 @) 625 x 1072
Rough Work | *TT—‘ . S ' L;lb o
,_L .‘
T, S A\ | H< s 1
T RN |
9 $HRE, 2 4 8 —
<. < o 2 g’L |
S “ .
é’*i}é; g © i/#
N B

5
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